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VAX=11 TECO
General nair?s
System definitions

Internal macros

JET' (edit typeout) bits

‘ED'' (edit mode) bits

Internal definitions

PSECT definitions

Pure data

Impure data

Permanent 1/0 buffers

Main st:rtu? entry point

lnitilk f'? on code

Compatibility mode trap handler
Initial start up

Error frocossing. etc.

Control/c ASTs

Terminal output waits

Terminal output

Terminal input

Echoing, etc.

Process Line/character deletion echoing
Pago backwards

Get input

Put output

Get an input byte

Switch to alternate output

Switch to alternate input

Close input & output files

Close output file

Kill output file

Close indirect command file

Error message finish up

Get files opened, etc.

Do '‘en’ grocossing

Handle the EJ flag

Handle ling truncation mode changes
Handle 8-bit terminal mode changes
Handle new terminal width

Stop terminal hacks

Process special functions

Get additional memory

Get date and time

Exit from TECO
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TECONAT VAX=11 TECO 16=-SEP=-1984 :11:05 AX/VMS M v04-00 P
v§9.02 General macros 18-55?-1884 ?i:16:8$ ¥YECO.SRC!$E80NAT.HAR:3 o 35 (5)
i .sbttl General macros
g .macro unorg
.endm unorg
§ 9 .macro org sect, offset
s .macro unorg
.noshow meb
0 40 .psect sect
0 41 .show meb
42 .endm unorg
8 4 tmporg sect, <offset>
2 2? .endm org
000 46 . defor ¢
Gogg 48 wecro defors sant
0000 43 if ne .~sect
0000 49 .error ; DEFORG not a beginning of '‘sect"’
0000 go .endc  ; .~sect
8888 s1 .endm deforg
0000 Si .macro tngorg sect, offset
0000 54 .noshow me
8888 gg -psect sect
B R, e
0000 §9 .endc : ndf sect
0000 60 .if nb <offset>
0000 61 = offset+sect
0000 65 ~endc : nb <offset>
0000 63 .show meb
0888 gg .endm tmporg
8000 66 .macro .dsect start=0
0000 67 .noshow meb
0008 68 $55888 = start
800 9 .psect ..abs... nogic.usr.ovr.abs.lcl.noshr.noexe.nord.nourt
888 7? .ifb S.s
sol s...
8000 7; .endc ; ndf ,.abs..
8000 7 s $$8888+, .abs..
000 7% .show meb
888 ;S .endm .dsect
8 7? .macro .bsect bit=0
Tg .dsect <1a<bit>>
08 70 .endm .bsect
88 1 .macro .mvsect prefix, suffix, bit=0
03 § .?gcro .lvdof sya
0 A prefin'sy. s?ffix'xsyl .bLkb
8 S .bsect prg x tv *suffix sln
? prefix'$m ? syl ..
8 .dsect prefix Sv *suffix' ‘syme1”
0 8 .ift : nb <Sym>
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16=SEP=-1984 :11 AX/VMS M
18-SEP-1884 ?§=16 8? !TECO.SRC’
blkb
.endc : nb <sym>
.endm mydef
.dsect <b t>
.endm .mvsect
.macro .equate symbol, value
.dsect <value>
symbol:
unorg
.endm ,equate
.macro .assume argl, cond, argl
2 cond <arg {>-<ar >
Lff 3 con <ara1>-<arg
.error 81 cond argl'' fails
.endc ; cond <argl>-<argd>
.endm .assume
.macro .desc tag, amt=63
.noshow meb
$553588 = 48
.align quad
Af ne .+8-5558%%
.warn ; not quadword sligned
. = 133333 50
.endc : ne L+8-588588S
.show meb
nb <tag>
tag buf = 133333
tag' _siz = amt
.long tag _siz
.long tag' buf
Jiff ; nb <tag$
.long
.long ssssss
.endc ; nb <tag>
.assume ., eq £33331
.bLkb amt
.noshow meb
.align quad
.Show meb
.endm .desc
.macro bce bit, dst, 'tag
f idn <Yextract(0 1.git)> <
H le <la¥extract(1 028 81t)>-63
. bicb s*#1aXextract(1,3000.bit), dst
Jmex
.endc  ; le <la%extrac (1.3000 bit )>-63
.endc ;s idn  <Xextract(0,1,bit)> . <>
bbsc bit, dst, tag
tag:
.endm bc
.macro bs bit, dst, 7t
3 ?dn <!oxtrlct(0 1 bit)> <

1
v

&



cNn
V3500 Goreral Secres 18-385-1080 3811008 LMECOMSANSSEooNR T makis T () vis
it le <la%extract(1 {Ogg 81:))-63
bisb s #1a%extract(l,300

Dbit), dst
.mexit
.endc  ; le <1a%extract(1,3000,bit)>=63
.endc ; idn <Xextract(0,1.bit)>,<#>
bbcs bit, dst, tag
tag:
.endm bs

.macro getdesc tag. reg, mode=w
movab mode“tag’' _buf, reg
mov reg, -(reg)

.assume tag+ eq tag' _buf
movzwl #tag'_siz, -Treg)

.endm getdesc
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16=-SEP-1984 H ro v04-00
18-SEP-1884 ? 8? ! +.SRC ! TECONAT.MAR;3
.sbttl System definitions
meb
$clidef ; cli defs
Sdssdof : string ?oscriptor defs
$dvidef 3 ce information defs
$ ?1d0: : gcs ob/procoss information defs
$libclidef :
$Spsldef : procossor status konguord defs
$stsdef ; status code definitions
sttgof : terminal modes/characteristics defs
$ttldef ; terminal modes/characteristics defs
.show meb
; Entry to compatibility mode exception handler with:
-32(r0) = saved r0 (ctlSal_cmcntx)
-28(r0) = saved ri
=24(rQ) = saved r
«20(rQ) = saved r
-16(r0Q) = saved ré
=12(r0) = saved rS
-08(r0) = saved r6 (compatibility sp)
=04(rQ) = exception code
0(r0) = saved exception pc
4(r0) = saved exception psl (compatibility ps)
Exception codes are:
0 = reserved instruction
1 = bpt
§ = jot
= emt
& = trap
5 = illegal instruction
9 = odd address
= t-bit
.dsect ; ctlSal_cmentx data storage offsets
r0: blkl : saved r0
rl: blkl : saved rl
ri: blkl ; saved r
rs: blkl : saved r
ré: blkl ; saved ré
rS: blkl : saved rS
sp: blkl ; saved ré6 (compatibility sp)
code: blkl ; saved exception code
pc: blkl ; saved pc
ps: blkl ; saved psl (compatibility ps)
g?ate i_bias, i_pc=i_r0 ; bias from ctlSal_cmcntx to entry r0
as:

- g,

b
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.sbttl

isiisg
issgis

.on r
.endm

radso

s
3
s .macro
1
g
;
3
3

.endm

E 11
16-3ER-198¢ %8:16:88 1R¥C

:

Internal macros
rad50 8odo
=

char, <coez>

s <$88888+40>+<*a/char/=64>
: chsr. <code>

radS

err code, text
bsbw err
tnporg tocodat

.lgn 133333
tnporg tecodat
<cod

.wor? 1333331
.88C1C text
unorg

err

ORI SECoNAT,

=00
MAR;3

Page
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vi .02 '!T"(Qd?t typeout) bits 1 -SEP-1384 95:16:82 TECO.SRC’TECONAT.HAR:B o (5)
2} .sbttl "ET' (edit typeout) bits
2 .mvsect tec, et$
45 .mvdef bin : +1., output in binary (image) mode
00000001 tec v_o:§u1n= .bLkb g A A gems.
00 2 tecSm etSbin: .blkb .
1 246 .mvdef crt : +2., do scope type rubout and control/u
0088882 1 tecSv_etScrt: .blkb
00 tecSm etScrt:  .blkb .
247 .mvdef ¢ : +4., accept lower case input
88888883 tecSv_etSlc: .bLkb
tecSm_etSlc: .blkb .
248 .mvdef nch : +8., no echo during input for ctrl/t
80000 04 tecSv_etSnch: .blkb :
0000010 88 tecSm_etSnch: .blkb .
0000005 002 249 invgoY . co Sthd : +16., cancel control/o on output
0 83 ecSv_etScco: .
00000020 812 tecSm_et$cco: .blkb .
0 250 .mvde¥ cke :  +32., return =1 if error/no input on ctrl/t
0000000 005 tecSv_etScke: .blkb
0000004 020 tecSm_etScke: .blkb .
006 251 .mvdef det : +64., detach and detached flag
00000007 000 tecSv_etSdet: .blkb
0000 04 tecSm_etS$det: blkb .
80 252 .mvdef «xit : +128., '"'no prompt yet'' flag
0000000 07 tecSv_et$xit: .blkb
0000010 08 tecSm etSxit: .blkb .
80 253 .mvdef tru : +256., truncate long output Llines
00000009 0 tecSv_etStru:  .blkb
00000200 010 tecSm etStru: .blkb .
009 254 .mvdef 1ias : +512., interactive scope available for ''watch''
0000000A 89 tecSv_etSias: .blkb
00000400 0 tecSm etSias: .blkb .
0A 255 .mvde¥ rfs : +1024., refresh scope available for ''watch'
000000 0A tecSv_etSrfs: .blkb
0000080 400 tecSm_etSrfs: .blkb .
808 256 .mvdef ; +2048., reserved by TECO-8
0000000¢ 08 .blkb
257 .mvdef t : +4096., terminal is an 8-bit terminal
8000%800 tecSv_et$8bt: .blkb
0002000 tecSm et$8bt: .blkb .
0 258 .nvgof !rv ; +8192., accept '"'' as escape during command input
88880888 tecSv_etSgrv: .blkb
4 tecSm_etSgrv: .blkb .
259 .mvdef :+16384., unused
0000000F .blkb
260 .mvdef gc :=32768., allow program to trap control/c
tecSv _etScc: .bLkb

00008818 N :
0001000 tecSm_etScc: .blkb .
.sbttl 'ED'" (edit mode) bits

1

g3

zg .mvsect tec, ed$
6

SSS8ccco S ammooeann

.mvdef : +1., don't allow '**'" as meaning control character

gtl
tecSv_edSctl: .blkb

OO0 OOOWOOOONNOO
OO0O0O0O0O0O0O0OO0OOO0OO0OO

00000001
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0NA1 VAX=11 TECO 16=SEP=-1984 AX/VMS o V04-00 Page
5% “ED"" (edit mode) bits 18-3EP-108¢ 18:18:08 IRECE SR EasERoNas - 0%: 3 e 3
00000002 1 tocSn odtctl blkdb .
1 267 .mv ‘ : +2., allow yanks, etc. to clobber text buffer
8888888{ tec v cd ynk- .blLkb
tecSm ed yn 3 .blLkb .
268 .mvdef ‘ 3 +4., don't allow arbitrary expansion(s)
88080883 tecSv_ed oxp' .blkb
000 tecSm_edSexp: blkb .
269 .mvdef : +8., reserved by TECO-8
00000004 .blkb &
& 270 .mvdef srh s +16., don't reset ''dot'' on search failure
800008g3 4 tecSv_edSsrh: .blLkb
0000 1 ttcSu ed srh: .blkb .
271 .mvde? :  +32., allow immediate mode commands
88080808 tecSv odtind: .blLkb
00004 tecSm” dsind: .blkb . .
006 272 .mvd e? ; +64., only move ''dot'’ by one on iterative search failure
80000027 8 tecSv od 1nc: .bLkb
0000080 004 tecSm_ed$inc: .blkb . o
0 273 .mvdef wch : +128., don't do automatic '‘w'' command before prompt
000000 007 tecSv_edSwuch: blkb
000010 0 tecSm _edSwch: .blkb .
00 274 .mvde? ; +256., unused
00000009 000 .blLkb
09 275 .mvdef ; +512., unused
0000000A 09 .blkb
OA 276 .mvdef : +1024., unused
00000008 000A .blkb
008 277 .mvdef : +2048., unused
0000000C 0008 .blkb
08C 278 .mvdef ; +4096., unused
00000000 000C .blkb
000 279 .mvdef ; +8192., unused
0000000 000D .blkb
Q0E 280 .mvdef :+16384., unused
0000000F O0O00E .blLkb
000F 281 .mvdef :+32768., unused
00000010 O0O0OF .blkb
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80000002
80000064
30600603
80060010

00000005 0004

OO0 O0O0OOOONININITO

3

3
i
;
g
9

.sbttl Internal definitions
.gso ..tti_vtOS

g ttZSn_odita-lb

t$ed t

.assume tSedit ne 0
soct ttesm_deccrta-16

.assuno t$dec ne 0
sec ttZtn-ansicrt8-16
ans

.assuno tsansi ne 0

.equate initial_siz, 5000
in tial_siz:

.equate ter_i_siz, 512
tcr i_siz:

.oquatc ter_o_siz, 512
tcr o_siz:

.cquato input_nor_siz, 2048
input_nor_siz?

. auato indir cmd_siz, 2048
indir_cmd_siz®

.equate input alt_siz, 2048
input_alt_s

.equate output sys siz, 512
output_sys_s

.equate input_vfc_siz, 12
input_vfc_siz®

.mvsect fab, tec

.mvdef eof
b v toccof

.nv VaeT netgt

fabSv_ tocno?st:
$m_tecnolist:
et buf

v, tocbuf:

i

tec :

$m tecicr:
ecr

tececr: .

P - - -

TR R R AR

o0 OO OO oo
e

e »
oo OO OO OO

v
b
b$m” tog
vde? i
fab v, cr
b

vde

bSv_

f

o
A
~
o

18-3E-1082 %;

; define 'ansi crt’..
; «++ for compatibility mode

11: AX/VMS M v04-00
16:82 !TECO.SRC’?EEONAT.gAR:3

; define vt05's...
; ««« for compatibility mode

; define 'edit’ func}ions...
: ««« for compatibil

ty mode

; define 'dec crt'.
3 oco fTOF conpatibility mode

; initial text & gq-reg size

; terminal input buffer size
; terminal output buffer size
; normal input record buffer size

; ""ei'" record buffer size

: vfc input buffer size

; definitions for fab$l_tecsts
; at end-of-file

: not first time through

: use buffered data instead of file

; extra <cr> output, do <Lf> next

Page

; alternate input record buffer size

. sysSoutput output record buffer size

; <cr> ignored, need <cr><Lf> on eof

9

(6)

45
4E
54
L9

73
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00000020

80000046
80000080
80000100
8000260
80000400
30600800

8000000
00010

00000000
00002000

0000000€
0000000F
00000010

OCO00O0O0O0COOOOWOONOONOO-OO0O0O0OCOO0O0OOOC
OO0 O0O0O0O0O0OOWOO N OONNOO
O»F P OVWOOWBONNOCOVWNO

OO MTMMOOO™

OO0 O0O0O0O0O—

323
3264
325
326
327
328
329
330

35
332
333

35

fab$m_tececr:

.mvdef nxt

fab$v_tecnxt:
fab$m_tecnxt:

.mvdef fmt

fabSv_tecfmt:
fabSm_tecfmt:

.mvdef rw
fabSv_tecrw:

b
fab$m_tecrw:
.mvdef sh
fabSv_tecsh:
fab tocsh:
g vgoY b
fabSv_tecb?:
b$m_tecb?:
vdef nv

g v_tecny:

$m_tecnv:

a
m
a
@
m
&
&
m
fa
fa

.mvdef stm

fabSv_tecstm:
fab$m_tecstm:

.mvdef var

fabSv_tecvar:
fab$m_tecvar:

.mvdef
.mvdef
.mvdef

In

o
—
=
o

. » e o . e @ . @ e @ .
OO OO OO OUO OO U U oo
P g g g g g g g g——

e A o o
OO OU OO OUO OO OO OO oo

o
P
>
o

.blkb
.blkb

eq

?i:};:gg AX/VMS H,gro v04-00 Page

TECO.SRCITECONAT.MAR;3

; pre=-fetched character exists (@ +3)
s /=cr, /cr, or /ft specified

; /rv = rewind magtape before opens

: /sh = shared open

; /b2 = basic-plus=2 mode

; /nv = always create a new version

; /stm - stream format specified

; /var = variable format specified

; unused...
; unused...
; unused...

o~ —

4F

49

45

40

45
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.PSEC
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1
0000
0000
0000
0000
0000 g
0000
808
00
800
00
0000

0000
0000

s?nitions

g? .sbttl
.psect
.psect

.psect
.psect
.psect

.psect
.psect
.psect
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WAAUAIASS 35 35 5 0 5 0 S S 0

16=-SEP-1984 n cro V04-00
18-38P-198¢ %3:1 0 SR TECONAT . MAR: 3
.PSECT definitions
tecodat, page,.nopic,usr,con,rel,lcl, shr,noexe,rd,nowrt

doforg tzcodat
tecodatin
deforg tecodatini

pago.nopic usr,con,rel,lcl, shr,noexe,rd,nowrt

tecobuf, page,nopic,usr,con,rel,lcl,noshr,noexe,rd, wrt

deforg  tecobuf

tecoctl, page,nopic,usr,con,rel,lcl,roshr, noexe,rd, wrt

deforg tecoctl

tecoctlini, page,nopic,usr,con,rel,lcl, noshr, noexe,rd, wrt

deforg tecoctlini

tecoexe, page,nopic,usr,con,rel,lcl, shr, exe,rd.nowrt

deforg tecoexe
tecoexelbr,
deforg tecoexel

gagc.nopic usr,ovr,rel,gbl, shr, exe,rd,nowrt

tecoexeini, page,nopic,usr,con,rel,lcl, shr, exe,rd,nowrt

deforg tecoexeini
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TECONAT VAX=11 TECO 16=-SEP-1984 02:11: AX/VMS Macro V04-00 Page 1
V§ .02 Pure data \ 18-SEP-1984 ?5:16:82 !TECO.SRC’TECONAT.HAR:B v (i)
gi .sbttl Pure data
org tecodat
% .align page
64 tor_o_ta%éo: ; terminal output translate 'til table
65 .rept 6
69 it eq <<.=ter_o_table>£127>-27
6 .byte 27
00 63 Aff : eq <<,=ter_o_table>£127>-27
8 ? .byte .-ter_o_table
0 .endc ; eq <<.=-ter_o_table>§127>-27
0 71 .endr
00 800 .byte .-ter_o_table
81 01 .byte .~-ter_o_table
i 005 .byte .-ter_o_table
0 00 .byte .=-ter_o_table
84 004 .byte .-ter_o_table
5 0005 .byte .-ter_o_table
09 009 .byte .-ter_o_table
0 800 .byte .=-ter_o_table
08 0008 .byte .-ter_o_table
89 8009 .byte .-ter_o_table
A 000A .byte .-ter_o_table
08 0008 .byte .-ter_o_table
0C 800c .byte .-ter_o_table
0p 000D .byte .-ter_o_table
OE 0O00E .byte .-ter_o_table
OF 000F .byte .-ter_o_table
10 8010 .byte .-ter_o_table
1" 811 .byte .-ter_o_table
1; 0 1; .byte .-ter_o_table
15 001 .byte .-ter_o_table
14 0014 .byte .-ter_o_table
15 0015 .byte .-ter_o_table
19 801? .byte .-ter_o_table
1 01 .byte .-ter_o_table
18 8013 .byte .-ter_o_table
1 01 .byte .-ter_o_table
1A 001A .byte -ter_o_table
18 0018 .byte 27
1C 001C .byte .-ter_o_table
10 810 .byte .-ter_o_table
1€ 1€ .byte .-ter_o_table
1F 1F .byte .-ter_o_table
0 0 .byte .-ter_o_table
1 1 .byte .-ter_o_table
5 i .byte .-ter_o_table
.byte .-ter_o_table
& 4 .byte .-ter_o_table
5 0025 .byte .-ter_o_table
9 9 .byte .=-ter_o_table
.byte .-ter_o_table
s 8 .byte .-ter_o_table
.byte .-ter_o_table
13 & .byte .-ter_o_table




V5202

VAX=11 TECO
Pure data

(] ]

B
C
D 0
3 3
g
1
¢ g
& 0034
3 5
i
ik
A 003A
038
C 003C
D 0030
E 003€
F 003F
40 0040
i &
s 8
46 0044
i 8
6? 0049
48 Oks
49 004
4A  004A
48 0048
4C 004C
4D 004D
4E 004E
&F  004F
30 0050
31 8 1
g
3 ]
§ de
f it
& A
8 8
C
D
3
F
0
1
a

OONOCOr WU AT VAW

OO0 OO0OO0OO0O0OOO
OO0 OO0O0O0O0O000O

o0~
WIN=OTMMO ™

.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte

.byte
.bytc

.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.=~ter_o_table
.=~ter_o_table
.~ter_o_table
.~ter_o_table
.=~ter_o_table
.~ter_o_table
.=~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.=ter_o_table
.~ter_o_table
.=ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.=ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table

.~ter_o_table

.~ter_o_table
.~ter_o_table
.~ter_o_ “table
.~ter_o_table
.~ter_o_table
.=~ter_o_table
.-tcr,o_tablo
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table

.~ter_o_ tablo
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table

4=00
ONAT.MAR;3
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VAX=11 TECO
Pure data

:
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Co 0o
0000000000 000000000000 N NNNNNNNNNNNNNNNOOOONON

= lelelelalelelalelelele e mioimioililol=lelelelelei=i=l=llllelelolelelelelelelelalelalelala e
Ll ) )“%\hbw—.G'ﬂﬂ!Oﬂg)'ﬂO%\h& WN=OMMO A > OONOWVISWBIN=OMTMO D

OO0 O0O0O0OOOOOO0OOOO0O0OOOOOOOO0OO0OCO0OO0OO0OO0OOO0O0OO0OO0OOOOO

o—moooooomgmaae-o

A0 OONOWVMS LI =OTMMO D > 00~NOWNS

00 OV OOV OOV OOV OOV OO

.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
Dyte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte

.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
. _0_table
.~ter_o_table
.~ter_o_table
;ttr_o_tablo

.~ter_o_table

4
ONAT

-00
.MAR;3
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- Page 15
/VRS Macro V04-00 13,
SEP-1984 :05 VAX 43 _
i By ]8 -SE P-19g ?§ :05 C(TECO.SRCIT ONA
‘§8°NA1 Pure data
it byte .-ter_o_table
: 4 'byte ~ter” _o_table
E O00F °b;to .~ter-o table
b Oonc .byte .-ter"o table
N A 'byto =ter” o_table
A) OOAx .byte .-ter"o"table
A A yte .-ter_o_table
A2 00A .byte .-ter o table
AS Q0AS .byte .-ter o table
A AL . yte .-ter_o_table
A A byto .~ter_o_table
A ox . yte .~ter_o_table
A 8A .byte .-ter o table
A A 'byto .~ter_o_table
AS oA °byto .-tor_o_tablo
A OOAF 'byto .~ter_o_table
AR 'byto .~ter_c_table
IR °byte .-tor_o_tablo
N OONE 'byta .~ter_o_table
80 8OAF 'byto .~ter_o_table
8 008 'byto .~ter_o_table
8 0083 byte .-ter_o_table
8 0085 'byte .~ter_o_table
8. 008 'byte .~ter_o_table
85 0085 'byto .~ter_o_table
82 O%oz byte .~ter_o_table
8% 9083 'byte .~ter_o_table
88 0088 'byto .~ter_o_ tablo
85 8088 °byto .~ter_o_table
B 008K 'byto .~ter_o_table
B8 0088 'byto .~ter_o_table
o¢ 008t 'bytc .~ter_o_table
8 0085 °byto .=~ter_o_table
o ooee .byte .-ter o table
BF  008F 'byto .~ter_o_table
% ooce .byte .-ter o table
& ¢ .byte .-ter o table
¢ 00t 'byto .=~ter_o_table
c; 8ocg .byte .-tero_table
¢ o 'byto .~ter_o_table
e 80C6 .byte .-ter o table
2 90t °byto .=~ter_o_table
¢4 8°c9 .byte .-tero_table
¢ 00 .byte .-ter o table
cg 3‘3 .byte .-ter o table
¢ ¢ : yte .-ter_o_table
8 SCA .byte .-ter o table
e € 'byto .~ter_o_table
&5 B0t ‘byto .~ter_o_table
(2 Boce 'bytc .~ter_o_table
tF 8CE .byte .-ter o table
50 0056 .byte .-ter o table
o 800 °byto .~ter_o_table
83 3053 .byte .-ter o table
Di 8D§ .byte .-ter o table
85 86 .byte .-ter”o g:g{:
.=ter_o_
DS 805 .byte ter”




V5202

VAX=11 TECO

Pure data
D D
1
Dg D
DA
DB

OCO0O00O0O0O0O0O0O0O0O0O0OO0O0O0OODODOO0OOOO0O
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o
o

.byte
.byte
.byte
.byte
.byte
.byte
.byte

.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte
.byte

byte

sposszablo:

.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table

.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table
.~ter_o_table

PPRPRAAAAAN
PPAPRPAARAAAN |
PPARPAAPAAPANP
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04-00
AT.MAR;3
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03 thEeo

VAX=11 TECO
Pure data

VE5202.
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G &R R S G 6D SR U R OB R T O R T 6D U D R R B D S o &0 6 R D O B R R D R D B 6P OB D &0 &R oD B o8 oD D B BB D R BB OB OB VB UB BB e
RN ARR O AP ARR PR AAR A AP ADRD NP DD PP DA DD DD R DA DR P D DD D DD R DD VD D R R DR WD
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P @B R D B OO D OB OB OO 6B D U0 D B W0 U U0 &0 O 60 OR D 1 O R &R D G AR D OB M OB S OB OB OB O OB &R OB U U O O O O 6D O O UM WR BN LD R R
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O3 80 80 8D 8S 80 80 80 8d 8P 8P 8D 8P 8D 8D 8D 8D 3D 8D 80 8 80 8D 8 8D 8D 8D 8D D 8D 8D 8d B 8D 8 8D B 8D 8 8D & 8B 8D B 8D 8D 8D 8D & BB 8 Bd B Bd &b 8D &P
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b
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b

DO00000
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VAX=11 TECO
Pure data

V5202

D B B G ¢ B D R D D 4D D D LD D D D D D 1D D & S B D 40 LD D 6B oD OB O oD o O oD 4 D D D D OB A &0 SO U D o0 OB D D O oD oD D oD
0 oD R o0 B0 B OR R D WD D D B ED oD B R O OF O O U0 OF B0 WD OB o D 6D o R 6D o o0 R BT D D B oD 6D B o2 WD oD oD B bR oD B PR EB SR B D B B
AL PEA LA A AR PRATE PR E LA E RO A A S AEAHS A PARN AN OO RO AR SRR AR AR AR RS R DD
2 B e B D 0 R AR D T 0GR A &0 R WD HD ED D R &0 &0 D oD o B0 W D & 0 oD G D oD o0 & o o o o LD oD &S o e B W o oD o B0 B0 EB LT OB &b o
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18-3Ep-108¢ 18114188 Mrec

E 12

VAX=11 TECO
Pure data
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FFFFFFFF
FFFFFFFF
FFFFFFFF
FFFFFFFF
40' 524
gt sonsee
001 '000054
0010040' 004 ;6
8 ‘ig
1 b
4 005 45
000030 605&;
0000100 58&1 8
00000000 0000000
004D454D 000002D8"
00494E49 000002EA"
00455456 000002FA"
004 2696§ 8000 oc*
004D595 00000
45 4D 24 43 45 54 00000258'%105?02g'
4E 49 24 43 45 54 000002F2' 05202%'
56 56 24 43 45 54 00000302'010E0002'
56 49 &6 &
49 4C 24 43 45 54 00000314'0102%003'
39 52 & &

43 45 54 2E

FEEEY Fo i
61 74 6F

73 65 67 61 70 20 0000034A'010£00gg'
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o o T N N N N N N N N N N N N N N N NN NN
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OOOOWMWAWNSS 25 5 LilAINININION) = —d e e« S OO M MMM O OO A D D > 3> OO0 ~N~NOON\NWANASLS B 0 0
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.long
.long
L 1ong
208: o

switch_Llist:
.long
.long
.long
.long
.long
.long
.long
.long
.long
.long
.long
.long

colon_eg_Llist:
.long
.long
.long
.long
.long

108: .ascid

208: .ascid
308: .ascid
408$: .ascid

.align byte

indir_cmd_dna:
Lascif

.cauato 1ndir cnd _dns,

ir_cmd

quota_nsg_do?c: :
.ascid <13><10>''XExceeding disk q

sizing_msg_desc:

.ascid

org
.align Llong
getdvi_itmlst:

fe<D>
ac<>
“c<§>
fe<D>
~a/CR/,
“a/=CR/,
“a/Fl1/,
“a/FIN/,
“a/B2/,
“a/Ru/,
~a/SH/,
“a/SHR/,
“a/NV/,
~“a/STN/,
“a/VAR/,
108, “a/MEM/
gos. “a/INl/
0s$, “a/VTE/
40$, “a/LlB/
0, “a/SYM/
""TECSMEMORY"'
"TECSINIT"
“"TECSVTEDIT"
""TECSL IBRARY"'

" p.g.s]n

tecodatini

00
ONAT MAR:3

: file spo ication switches
fab$m_ tocfnt'< fab
fabSm_tectmt!<

fabSm_ tncfnt'<fab!~ ftna16>
fab$m_tecfmt!<fabSm_ftnalé>

fab$m_tech

fabSm_tecsh
fabSm_tecsh

L, functions

in?t" Jlogical

logical
' logical
DCL synbol manipulation

oypod editor

; defaults for ''ei'’ files
.~indir_cmd_dna

« over quota message

; memory sizing message

: SGETDVI item Llist

o
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V5202 Pure data. 18-3Ep-1980 18:14i08 MRECO™SaCaSERoNT ARy PO B

0009 ter_i_devnam_fns = .~ter_i_devnam_fna ; terminal input device name Length

ter_i_devnam: ; terminal input device name desc

00000058°00000009 .long ter_i_devnam_fns, ter_i_devnam_fna

ter_o_devnam_f ; terminal output device name string

54 55 50 54 55 4F 24 i .lsc?i "SYSSOUTPUT”

0006 0004 word &, dvis_devcl
00000000, 0060000" 92 - Lon azvc‘:,; e
.wor
00000000, 99800001 1§ *Ton d!vtyp1 §"b’:'1
Wor [ ] $12
00000000 00000002 " 001¢ long  dgiby 13 4 d" :
nNor epen
00000000 00000004" § - lon dzv 33 2, 3
wWor evaepen
00000000 00000008 * ot gl TN
0 A .Nor 64, dvis dQvnan
00000000 0 ’ 4§ .lon devnam
0 4 .Wor { $_unit
00000000 8 0004C* 004C .lon un{
0000 000 ga .Wor 0, 6
8§§ .align byte
g tor_ 4 4 : 5 Serniasl Shout Sowl tri
54 55 50 4E 49 2 53 59 53 §2 or.ldevnan e My s InpUT" i o B o Seamd iodin
6
8
8
6
:
5

53 59 5
0000000

WA AN O OO — — — =

VIVIVY VIV VIVIVIVIVIVIVIVIVIVIES. BB B BB DB BB DD DD DD DD DD DD DD 00000000000
—_—t et bt S OOOOCOOCOOOOY VOOV O OOV CC00000000000000C0 NN NNNNNNN~NOO-O-OO°

OIS LIN= OV NOWVISWLIN=0OW CONOWVEF WM = O 000 N0 NI LN = OO0 00 N0 S~ N - OO0 00 ~NON W

0
0
0
§
88 ter_o_devnam_fns = .-ter_o_devnam_fna ; terminal output device name Length
807 ter_o_devnam: ; terminal output device name desc
00000069* 0000000A 8;3 .long ter_o_devnam_fns, ter_o_devnam_fna
078 ter_c_devnam: ; terminal command device name desc
4F 43 24 53 59 53 00000083'01050000' 073 .ascid ''SYSSCOMMAND''
E 41 4D 4D 8 :
08E ini_dcd_Llognam: : logical for private command decoder
4F 43 45 54 00000096'010£0000°* 0095 .ascid ''TECO"
9A cli_verb_teco: ; verb for EDIT/TECO
4F 43 45 54 000000A2'010€0000°* zz .ascid ‘"'TECO"
Ab cli_no_ini: ; qualifier for /NOCOMMAND
49 4E 49 4F 4E 2F 000000AE'010E0000' A2 .ascid ''/NOINI"
) cli_no_create: ; qualifier for /NOCREATE
45 52 43 4F 4E 2F 0000008('0}0;000? b .ascid '‘/NOCREATE"
&5 56 & E
C cli_no_memory: A ; qualifier for /NOMEMORY
4D 45 4D 4F 4E 2F 000000(0'210§g000' C .ascid '‘'/NOMEMORY’
9 &F g
D cli_inspect: o ; qualifier for /READ_ONLY
&5 50 53 4E 49 2F 00000005‘010;202? g .ascid '‘/INSPECT
E6 517
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E 18 cli_null: Ll stri f tri ildi
000000EE 010£0000" 90¢ MY asctd T PRE VW T e Wetveen
E cli_space: s f tring buildi
20 000000F 6*010£0000" 00¢ R id " A ¥ Sy T B e YT
F cli_equals: : ls sign f tring buildi
30 000000FF ' 010E0000° QOF ; TN asctd ' T FUTRE Vg o VIEG Nrreney
1 Li_dollar: : a dollar sign for stri iLdi
24 00000108 010€0000" 01 bkt a4 ST P R bt ol b ks Rootsion
1 cli init: : logical name fo d fil
GE 49 24 43 45 54 00000111°010§0000" 0109 331 © T ascid “TECSINIT® o e B 5
Aol 2
11 i cli_qual_command: : to fetch /COMMAND Lifi
GE 41 4D 4D 4F 43 00000121"010€0000" }1% E O T gy
1 5
1 cli_qual_create: : to fetch /CREATE qualifi
45 54 41 45 52 43 00000130'010E0000" }i ; =AU Recld MCREATE" ’ Wy
1 cli_qual_memory: ; to fetch /MEMORY qualifier
59 52 4F 4D 45 40 0000013E'010E0000* 0136 340 QA Ree1a’ "MEMORY"" "
144 42 cli_qual _execute: ; to fetch /EXECUTE qualifier
54 55 43 45 58 45 0000014C'010£0000" 0144 ¢§ cli-qualexecute; Ecuter ' w
1 44
1 i 45 cli_parm_p1: ; to fetch P1 parameter
31 50 00000158'010E0000" 0133 344 -ascid ''P1"
150 48 cli_qual_output: ; to fetch /0UTPUT qualifier
4 55 50 54 55 4F 00000165'010£0000" 0130 343 -ascid "OUTPUT"
168 51 cli_qual_read ong‘: : to fetch /READ_ONLY qualifier
4F SF 4 41 45 52 00000173°010£0000" 0168 352 zascid  "READ_ONLY"




TECONAT VAX=11 TECO 16-SEP-1984 02:11: AX/VMS Macro V04=00 © 5
ViS85 Impure dats 18-3EP-198¢ 98:14:08 FEEE S RnasEo Ny R0n; 3 e 23
};E g .sbttl Impure data
17 9 org tecoctl
8 3 .align quad
0 ter_o_statusl: ; terminal output i/0 status block #1
00000000 00000001 g %i e~ YEE FUWERS WNYPUE O yrane W
ter tatus?: ; terminal output i/0 status block #
00000000 00000001 00 §‘s’ i et W WOIEDE IINE 708 S100 Dies W
1 ter : : s inal tput iti 0s8
00000000 00000000 01 gz e ed 8 PN TN Poaveven 1
01 t i_status: : inal i t i/ t k
00000000 00000000 §1 E?? er_i_s ?qg:d 0 terminal inpu o status bloc
72 ter_i: : terminal input buffer d ipt
00000000 0030 ;75 Jong O : "ho initial size of Input. T
00000400° 8 4 S;g .long ter_i_buf : but pointer to input buffer is set
0 § 576 ter_i_nor8_trm: ; normal 8-bit terminator mask
00000020 00 g?? .long 20%-10$%
00000030° 88 C S;g .long 10$
FFFFEOFF 00 8 0 108: .long “c< <1ad>! = ; all of 0= 31 except bs,
034 1 <1a9! = : tab,
003¢ S g <1310>! = : g
0034 g <131 1>! - : vt,
034 4 <1312>» : ft
00000000 0034 g 5 .long 0 : none of 32- 63
00008000 038 9 .long 0 : none of 64- 95
80000001 003C g .long <« <18<96=-96>>! = ; none of 96-127 except accent grave,
8&0 s <18<127-96>>> ; del
FFFFFFFF &0 5 .long “*c<O> ; all of 128-159
FFFFFFFF 0044 90 .long “c<O> ; all of 160-191 (initially...)
FFFFFFFF 860 91 .long *c<O> : all of 192-%22 (initially...)
FFFFFFFF 4 9; .long  *c<O> ; all of 224- (initially...)
g 3‘ 20$:
S 95 tmp_string: : a temporary string...
S 96 R .aosc tmp_string y y '
8888 gf' g .long tmp_string_si
9 .lon tgp_string_bu
000009 3 - .bLkb
9 293 tup_stringZ: ; another temporary string...
9 9 .desc  tmp_string
8 8 03F 9 .long tmp_stringl_siz
AO' 009 .long tmp_stringl_buf
00000DF e .blkb 63
E § ? .align long
E ; ter_i_nor_trm_ptr: : normal ingut terminator mask pointer
00000200*' OO0E0 604 .long™ ter_i_nor7_trm : (pre-set) normal 7-bit input
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Eé 5
Eh 2 saved_sp: :
000000E8 E‘ 6§z ved_ p.blkl saved sp value for error exits
E till_free: :
00000000 E§ g}z H e r?tong 0 amount of memory still free
EC 12 ctrlz_cnt: 3 f ti /2"
00000000 E g}‘ 'cn.long o count of consecutive control/2's
0000 §: g}; ter_o_cc: Vel 8 ; terminal output carriage control
F 17 output_sys_vfc: ; sysSoutput print control
0001 08; g}g .word 1
8;2 2 ? .align word
0000 §E§ § 2 tor_i_ch,:;rd 0 : channel # for terminal input
0000 §§E6 § ; t'r'o'Chtcérd 0 : channel # for terminal output
0000 §§EA § § t.r'c'Ch?Sérd 0 : channel # for terminal control/c ast
0000 88;: g é ter_o uni:ord 0 ; terminal output device unit
OFC 6
8;5 2§g .align byte
00 °§E§ §§9 ctrlc_fllg;t. 0 ; exit on second control/c flip/flop
80FD 6 g ctrlo_flag: : control/o in effect flag
00 O0Fe &1 o
80FE 64§ ter_o_force: ; terminal output being forced flag
00 08;; 22‘ .byte 0
OFF 645 ter_o_pend: ; terminal output pending count
FF ?55 229 .byte -1
1 8 2&3 exiting_ flag ; exitin fla?
01 } ! 6‘0 e 1 : prese orce CTRL/T disable
} 1 6g1 .align Llong
104 3?5 err_msgvec: ; error message vector
00000110 }16 § g blkl 3
}} ’ .noshow meb
11 input_nor_fab: ; fab for normal input
1 5 $fab - : allocate a fab
1" 6 fac= ?et. : a*lou gets
" 661 fna=tile_spec_buf, : file name will come from here




V5202

VAX=11 TECO
Impure data

00000164

00000230°

00000170

00000174

00000178

000002C8
00000334
00000204

1
"
1
"
1

1 §
i

08
}6
08

S5 O000

:
:
:
:

S O00000O0OCO00000000000000000000 8 5~ H OO0 &

14
4
7
4
7
4
7
D
D
3
E
4
7

1
1
0
1
1
0
1
1
0
1
1
1
1
1
1
1
1
1
1
1
74
4
C

OO0O0O0O0O0OOOOOOOOOOO0OO0OO0O0OO0OO0O0O0OO0OOOOOODOOOOO

DOV OOIOIIOIOIYOIYNNNNY
BB DOV DO

I8:3ER-108S 0R1II0E AR seolit-ag

nam=input_nor_nam, =
rat=cr, =

rfm=yar, -
xab=input_nor_xab

.Show meb

.equate fabSl_tecsts,
fab$l_tecsts:
blkl

.equate fab$Sl_tecrab,
fab$l_tecrab:

.long input_nor_rab
.equate fab$q_tecque, .=input_nor_fab

.~input_nor_fab

.~input_nor_fab

fleq_tocgr::
.equate ?absg_tocdsp. .~input_nor_fab
fabSl-tocgtEi
.equate ?abtl_tecctl. .~input_nor_fab

fab$l_tecctl:
.blkl

.noshow meb

input_nor_nam:
$nam -
rsa=input_nor_spec, =
rss=nam$c_maxrss

input_nor_xab:
$xabpro

input_nor_rab:
$rab -
fab

rh
(4]
b
s

=input_nor_fab, =
b=input_nor_vfc, =
rop=<loc,rah>, =
ubf=input_nor_buf, -
usz=input_nor_siz
output_nor_fab:
$fab -
fac=<grt.trn>. -
fna=file_spec_buf, -
nam=output_nor_nam, -
org=seq
.assume fa
.assume ft X
a
b

output_nor_ra

OO0O0O0O00O0O0O0OVOVVVOVVOVOVOVVEOOOICEON0CINN NN NN NN NN o000

WINY = OO NOWSWIN = OV NOWVMS W= OV NO VIS N =000 ~NO' WV WD =0 OO

.assume f

SNNNNNNNNSNSNSNSNN N OO OrOFOOOrOOONOAOAOOOrOrOOhOFOF OO0 OO OO OO OOOOOONONON

b e e (3

rsazoutput_nor_spec, -

=s
_tecsgs eq .-output_nor_fab

LI A TE TR TR TE ¥

tecrab eq .-outgut,nor-fab'
tecque eq .-output_nor_fab’

- E
TECO. SRC ] TECONAT . MAR; 3 w5

catch the rosustant filespec
(pre-set) attributes of implied cc
(pre-set) record format of variable
catch the protection code

our private fab status longword

private status longword
cur private fab to rab pointer

private pointer to the correct rab
our private fab data Line queue

private data line queue
our private fab dispatch Longword

private dispatch longword
our private fab control bytes

private control bytes

nam for normal input

allocate a nam
resultant filespec goes here
allowing the maximum length

xab for normal input
allocate a protection code xab

rab for normal input
allocate a rab

for normal ingut fab
use this vfc buffer
use locate mode & read ahead
use this record buffer

with this size

fab for normal output
allocate a fab

allow puts & truncates

file name will come from here
catch the resultant filesfoc
organization is sequentia

private status longword
private pointer to the correct rab
private data Line queue

; nam for normal output
: allocate a nam

resultant filespec goes here
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mpure data - : o NAT.MAR: )
1 d SEP-1984 TECO.SRCITECONAT.MAR:3 (9
2 ;}g rss=nam$c_maxrss ; allowing the maximum Length
4 71? output_nor_rab: ; rab for normal output
4 1 $rab - ; allocate a rabd
4 13 fab=output_nor_fab, = ; for normal output fag
& 1 rop=<tpt,wbh> : use truncate on put £ write behind
7 ; ? 1nd1r_cng fab: ; fab for "‘ei"
7 ; i fab - : allocate a fab
7 dna=indir_cmd_dna, - ; default string is '.tec’
7 7264 dns=indir_cmd_dns, = ; which is this long
7 ; 5 fac=?1t. - H ? low gets
7 9 fna=tile_spec_buf, - : le name will come from here
7 7 fns=ini_dcd_fns, - : (pre-set) for ''SYSSLOGIN:TECO''
7 728 fop=sqo, = ; (pre-set) sequential only option
7 729 nan=1nd‘r_cnd_nan. - : catch the resultant filespec
037 730 rat=cr, = ; (pre-set) attributes of implied cc
037 731 rfm=var, - : (pre-set) record format of variable
037 7 i shr=get : (pre-set) sharing is other gets
03C 733 .assume fab$l_tecsts eq .-indir_cmd_fab
00000000 03C8 734 . lon ; (pre-set) private status longword
8 CC 735 .assume fab$(_tecrab eq .-indir_cmd_fab
00000440°* 03CC 736 .long" indir_cmd_rab : private pointer to the correct rab
0300 737 .assuno fabSq_tocauo ea .~indir_cmd_fab
00000300°'00000300"* 8300 738 108: .lon? 108, 10$ ; (pre-set) private data Line queue
308 739 .assume fab$ _tocdsg eq .~indir_cmd_fab
00000891" 03p8 740 .lon? getbyt_first ; (pre-set) private dispatch longword
03DC 741 .assume fabS$[_tecctl eq .-indir_cmd_fab
00 00 00 OA 8;28 ;2; .byte 10, 0, 0, 0 ; (pre-set) private control bytes
03E0 744 indir_cmd_nam: ; nam for "‘ei"
03E0 745 $nam - ; alloc.ii a nam
03E0 74? rsa=indir_cmd _-"~¢c, = ; resu aat filespec goes here
8258 ;28 rss=nam$c_maxis . ; allowing the maximum length
0448 749 indir_cmd_rab: : rab for "‘ei"
044 750 $rab - : allocate a rab
0440 751 fab=indir_cmd_fab, - : for "'ei' fab
0440 75§ rhb=indir_cmd_vfc, - : use this vfc buffer
0440 75 rop=<loc,rah>, = ; use locate mode & read ahead
0440 754 ubf=indir_cmd_buf, - : use this record buffer
0242 ;25 usz=indir_cmd_si2 : with this size
4§6 729 input_alt_fab: ; fab for alternate input
484 7 3 $fab - : allocate a fab
484 75 fac=get, - ; allow gets
0484 760 fna=file_spec_buf, - ;s file name will come from here
484 761 nam=inpuf_alt_nam, - : catcn the resultant filespec
484 76; rat=cr, = : (pre-set) attributes of implied cc
486 76 rfm=var, - : (pre-set) record format of variable
484 764 xab=input_alt_xab : catch the protection code
4D& 765 .assume fab$l_tecsts eq .=-input_alt_fab
000004D8 04D4& 72? Dblkl : private status longword
4D 767 .assume fabil-teﬁrab eq .~input_alt_fab
000005A4&"* 04D 763 .long nput_alt_ra : private pointer to the correct rab
4DC 79 .assume fab$q_tecque eq .=input_alt_fab :
000004E4& 04DC 770 .blkq ; private data line queue
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71 .assume fab$lL_tecdsp eq .-input_alt_fab
000004EB 4 blkl™ pr . ; private dispatch Longword
; .assume fab$l_tecctl eq .-input_alt_fab
000004EC £s blkl ; private control bytes
79 input_alt_nanm: ; nam for alternate input
77 $nam - ; allocate a nam
773 rsa=input_alt_spec, = ; resultant filespec goes here
;70 rss=nam$c_maxrss ; allowing the maximum Length
781 input_alt_xab: ; xab for alternate input
; ; $xabpro ; allocate a protection code xab
784 input_alt_rab: ; rab for alternate input
785 $rab - ; allocate a rab
729 fab=input_alt_fab, - ; for aliornate input fab
7 rhb=input_alt_vfc, = ; use this vfc buffer
788 rop=<loc,rah>, = ; use locate mode £ read ahead
78 ubf=input_alt_buf, - ; use this record buffer
;g? usz=input_alt_siz ; with this size
79§ output_alt_fab: ; fab for alternate output
79 $fab - : allocate a fab
794 fac=<put,trn>, - ; allow puts & truncates
795 fna=file_spec_buf, = ; file name will come from here
799 nam=output_alf_nam, = ; catch the resultant filesfcc
79 org=seq ; organization is sequentia
798 .assume fab$l_tecsts eq .-output_alt_fab
0000063C 799 blkl ; private status longword
800 .assume fab$l_tecrab eq .-outgut,alt_fab
000006A8"* 81 .long output_alt_ra ; private pointer to the correct rab
i .assume fab$q_tecque eq .-output_alt_fab
00000648 8‘ .blkq ; private data line queue
85 output_alt_nam: ; nam for alternate output
9 $nam - ; allocate a nam
8 rs.=outgut_alt_spec. = , resultant filespec goes here
03 rsS=nam$c_maxrss ; allowing the maximum Length
10 output_alt_rab: ; rab for alternate output
1 $rab - ; allocate a rab
1§ fab=output_alt_fab, - ; for alternate output fab
}‘ rop=<tpt,wbh> : use truncate on put & write behind
15 en_fab ; for for "‘en"
19 $fab - : allocate a fab
1 fna=file_spec_buf, = ; file name will come from here
13 nam=en_nam : '‘en' name block
19 .assume fab$l_tecsts eq .-en_fab
00000001 ? .long” fab$m_teceof ; private status longword (fnf)
i en_nam: : nam for '‘en'’
$nam - : allocate a nam
o esa=en_spec, - : "'en' parse filcs?oc
5 ess=nam$c_maxrss, - : allowing the maximum Length
? rsa=en_occur, = : "'en'' occurance filespec
rss=nam$c_maxrss ; allowing the maximum Length
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VAX=11 TECO
Impure data

7A
7A
7A
7A
ZA
7A
7A
7A
[4;
00000000 O7F
7F&4
00000808* ;;4
000007F8°'000007F8" TFg
i
00000891' 080
i
00 00 00 0A 04
0803
080
080
080
080
080
080
080
8 4C
84C
084C
084(C
084C
084C
084C
084C
084C
084C
089C
89C
9C
9C
9C
9C
9C
9
E
E
E
000008E4 E
Eé4
Eé4
000008E8 E&
Ei
00000000 3
EC
EC

input_sys_fab:
P YSTab -

fac=get, =
fna=ter_i_devnam_fna, -
fns=ter_i_devnam_fns, =
ratscr, ="
rfm=var
.assume
Llon
.assume
ng~ 1input_sys_ra

f
fab
f
1} S
.assume f
. irst
.assume f

input_sys_rab:
$rab -
fab= 1nput sys_fab, -
rhb= nput s s “vfe, =
rop=<loc
ubf=ter_ * buf
usz=ter_i_siz

output_s‘?_;ab.
. -

fac=put, -
fna=ter_o_devnam_fna, =
fns=ter_o_devnam_fns, =
fsz=2, =

org=seq, =

rat=prn, -

rfm=vfc

output_ s‘s rab

fab=output_sys_fab,
rbf=output_sys_ buf. -
rhb-autput sys_vfc, =
rsz=

rop-ubh

.Show meb

NNNNNOOOCONONONOCONON O NIV SN 35 85 55 85 85 8 8 5 25 LRI LA LRI LNILNINON)

SN =2 OO0 N8 AN = OO 00 NOM NS AN — O O 00 NON NS N = O 0 00 NN N S AN — OO0 00

75 tile_spec opt:

i | (1
78 file_spec _swt:
g filespec sut

ter_oob_msk:
.long 0

[oole Lo To-to -To To-Tu Lo Lo To -To-To Lo -To Lo Do Lo Qo Jo Lo To To -To -ToJo Jo Qo Jo Qo To Lo To To To-To Lo To To-To To To-To To-To-To To To. To To To-To To.To.-To To "o}
NNNN
WD — O ~NO~

& .align byte

.bsf tocatl oq .-anput sys_fab :

LA TR TR PR TR TN T

ab$l_tecsts eq .-input_sys_fab ;
o ? tecrab eq .-1ngut sys_fab ;
b$q tocauc 08 .=input_sys_fab .
bS? tccds oq .-1nput sys_fab :

AL A T A TR TA PR PR TR R ™ LA TE TR TE PR TR T

fab for sys$input input
allocate a fab
allow gets
e name as for terminal input
th the correct length
(pre-sct) attributes of implied cc
(pre-set) record format of variable

(pre-set) private status longword
private pointer to the correct rab
(pre-set) private data line queue
(pre-set) private dispatch longword
(pre-set) private control bytes

rab for sys$input input
allocate a rab

for szstinput 1nput fab

use this vfc buffer

use lLocate mode & read ahead
use this record buffer

with this size

fab for sysSoutput output
allocate a fab

allow puts

1lo name as for terminal output
th the correct length

fixed control area is 2 brtos
organization is sequentia

use print file format

format is variable w/ fixed control

rab for sysSoutput output
allocate a rab

for slsSoutput output fab

use t 13 output buffer

use this print control buffer
no partial record initially
use urito behind

file specification options
file specification switch

terminal out-of-band re-enable mask
preset to nothing to re-enable

S

p-1080 181503 MRECE"SaaSERoNAT - man:s P9 8

b
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TECONAT VAX=11 TECO 16=-SEP=1 AX/ H o V04-00 P 1
v§$.02 Impure data 18-SEP 133 ?i- 16: 82 Y SRC ’ ECONAT.MAR;3 e %9)
EC S
EC file_spec_len: ;s fil ificati h
000008ED Eg g p celen e specification Lengt
ED file_spec_buf: ; file specification buffe
45 54 3A 4E 49 47 4F 4C 24 S3 2? 2 Eg 0 ’ .ascii ''SYSSLOGIN:TECO" : (pre-gct for :EISYS%LOGEN:?ECOS)
000000E FB 91 ini_dcd_fns = .~file_spec_buf
80008850 Eg 3§ “.blkb nam$C gaxrss*1-< -file_spec_buf>
9ED 94 input_nor_s 3 Ltant fil f L input
00000AEC ZEE 3; p Eec ol mostrl resultan espec for normal inpu
AEC 97 output nor spec: 3 Ltant fil f L output
00000BES QES 83 pu g Sost atod resultan espec for normal outpu
EB 00 indir cnd spec: : resultant filespec for ''ei"
00000CEA CEE ggi E nam$c_maxrss 40 :
CEA 903 input alt spec: : resultant f Lt te input
00000DE9 gge 3§g . E nam$c_maxrss b s Mg 8 e P s o4 iy
DE9 906 output alt spec: : Ltant ¢ for alt t tput
00000EE8 8259 33§ . Thb - namSc_maxrss ey e el <t ey
EE 909 en_spec: : "'en" fil
00000F E7 gggg 910 POCT B nesSc_mexrss e o s
8FE7 915 en_occur: : "'en'" occurance filespec
000010E6 ‘FEZ 3}4 .blkb nam$c_maxrss
1856 915 input_nor_vfc ; normal input vfc buffer
000010F2 }8; 3}? bLkb  input_vfc_siz
10F 918 indir_cmd_vfc : "'ei'" vfc buffer
000010FE }OFE 310 .BLkb  input_vfc_siz
18FE 921 input_alt _vfc: ; alternate input vfc buffer
0000110A }?55 g i .Blkb  input_vfc_siz
110A 924 input_sys_vfc ; sys$input vfc buffer
00001116 }}?a 925 .bLkb  input_vfc_siz
116 § 9 org tecoctlini
3 g .align long
G etdvi_info: : SGETDVI returned information
i ovclass : device class
00000001 Lkb
o dovtypo ; device type
00000002 1 935 .blkb
2 9 dovbufsiz ; device buffer size (width)
00000004 Kw
00000008 0 g dovdopcnd : device dependent bits
8 9 dovdopondg ; device dependent bits #2
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VAX=11 TECO
Impure data

385 ;
0000004C 4%
4C

00000050 i
sé

3

gs

5

6C

06C

06C

0000 8 C

8 &
0000008 8?2
074

0080 0;6
§
0000000 078

E 13

18-3Ep-198¢ 18:14:88 VRECE™SatsEGs

4 kl

2§ getdvi_ 1nfo len = ,-getdvi_info
44 devnam:

45 .blkb 64

o3

47 un

ks .blkl

4

g? .noshow meb

gi cli_req_ got md:

clireqdesc -
g%g rqtype=cliSk_getcmd
9 9 .Show meb
95
953 cli_result:
85 .word O
60 .byte dscSk_dtype_t
861 .byto dscSk_class_d
6§ .long 0
96
96& cli_command_Line:
.word

969 .byte dscSk_dtype_t
96 .byte gscSk class_d
968 .long

04-00
AT.MAR;3

<

device name string

device unit number

okt !

request block to get command Line
define cli request descriptor block

to get the whole command Line

cli parse result string

built up cli parse command Line

PSS —

§
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553?33‘ g:ﬁ;l;olgc?lo buffers }3:§533}352 ?§§11:82 ! XIgngn 3 '3032?'32n ;3 o (?3)

Oﬂ;E ; .sbttl Permanent 1/0 buffers
4 ; org tecobuf
;g .align page
76 ter_o_bufl: ; terminal output butrfer #1
00000200 ;8 Yolkd  ter o stz g — T
79 ter_o_buf2: ; terminal output but*s- #2
00000400 0200 9 BLkb  ter_o_siz .
4 g ter_i_buf: ; terminal input buffer
18 59 4D 48 G .ascii "MY''Q27> ; (pre-set) initial command string
“ 984 .equate ter i_buf_pre, .-ter_i_buf
00 ter_i_buf Yre.
00000600 28 3 5 kb ter_i_siz=<.-ter_i_buf>
688 G 9 input_nor_buf ; normal input record buffer
00000E00 0208 3 g .BLkb  input_nor_siz
8500 990 indir_cmd_buf : "'ei' record buffer
00001600 1588 331 .bLkb indir_cmd_siz
1600 99§ input_alt_buf: ; alternate input record buffer
00001E00 }ggg 33? Blkb input_alt_siz
1E00 996 output_sys_buf: ; sysSoutput output record buffer
00002000 1E00 997 .bTkb output_sys_siz




VESONAT

5A 01
58  00000000'EF
00000000°EF  0000°'8F
00000000°EF 000'8F
000°CB 080' F
0000°CB 000° 8F
00°* 000°' 8F
0000'(C8 0008' F
0000°CB 008 '8F
0000°'CB8  0000°'8F
00'AB  0000°8F
oy SE
3 Sk
51 00001388 8F
88 4
wif
8 3
O00OFFFF 8F 0
OOE8'CF 52 g00001FF F
5 20E8'CF
00'AB 8 1
00'AB 0 gO F
00°AB F 8F
gO'AB 1
51 002C"CF é%

00 61
00008080'EF6‘
80 61 gz
E7 52 00000080 8F

VAX=11 TECO
Main startup

OFFC

o G S e S P P G P e = = = =

S LN =2 OO 00 NN N8N N = O O 00 NOM N1 8 N = © 0 00 NON N B LN = O O 00 O U o~

(elelelelelol=lelelelelel=l=l"

> 3 00V OV NNNO OO NN S 8~ S INN = 22 0 0 0 0000000000000

Telolelelelelelelelelalelelelelelelel=]
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[elelelelelelelalelecleclelelelelelcleclcleclelelelelelela]

BOD>

O™

entry point

18-3Ep-1082 18:18

.sbttl Main startup entry point

org tecoexeini

.entry tecSteco,

.sbttl Initialization code

; set up permanent pointer registers
mnegl #1, r10
movaw rSset, r11

; do default read/write area setup

movw #io$m_noformat, ioSbin
movw fiosm™ canctrlo. io$cco
movw #spset, w “tecosp(ril)
movw #pdisrt, wtecopd(ril)
movw #pdlisrt, b pdl(r11)
movw #schsrt, w*schbuf(rll)
movw #filsrt, w*filbuf(ril)
movw #tagsrt, w*tagbuf(rll)
movw #inpnor, b*inpntr(rll)
movw #oupnor, b*oupntr(ril)
movw ltoco h, u“tocoj (r11)
movaw w*rws zo r11
movl #initial siz, r1
movw r0, b*txstor(ril)
movw rl, b*zmax(r1l)
addl rl, r0
movw rO b‘qrstor(rlI)
addl
subl rg 065535
bicl f2-1,"r2. . still free
subl stit[ free, r2
addw3 r1. ré.” b‘qnax(r11)
movw
movzbw l‘al b‘syasg*
nnerg outdno(r )
add l 5818 whter_

108: bbss r ‘8 (r1) 20%

208:  tstw tlrd)
blss
bbcc (r1), 30%

308: aoblss l 28, r2. 108

LA TR PR TR TR T

} get true
ltoctn ‘etsxit, b“ot{ge(ril) i get default '‘et'" flags

: say all sorts of out
i_nor8_ trn+4. r1 ; add

; store rounded

AX/VMS Macro V04-00
TECO.SRCITECONAT.MAR;3

03

e 1

“m<r2, r3,rb,r5,r6,r7,r8,r9,r10,r11> ; startup entry point

junk up the ctlSal _cmentx pointer
point to teco's read/write area

set '‘how to do binary output'’
set "'how to cancel control/o"
set sp stack rcsot value

set toco B g start

and ini t the p

set teco's seorch buffer start

set teco's filename buffer start
set teco's tag buffer start

set input pointer to normal input
set output pointer to normal output
set default jump dispatch table
get start of free memory

set initial text buffor/q-rog sizes
set start of text storage

and its s

then skip 1ts size

set start of q-register storage
then skip 1ts (trial) size

find amount o nonorz still free

down o page multiple

then find the remainder
q-register storage size

is a symbol character too

?g §?s of mask

start at (rela b t
ensure that this bit is set
a hex pair for conversion?

yos. leave tho b t set

no, clear t 3
Lloop for all 128 bits...

ress
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i
CF
CF
3
00000000° GF " gg
00°'8F 0080'%5
7

04 0004'CF
00'AB 04
7€
Q0F4 " CF

0061°'CF
00000000°'GF _ 04
FFAQ'

00'AB 04

00000000' 81
010C*CF OTAC Cf

03 07BF CF

3
50 00000000'8
0C  O7DF'CF

1E
04 O78F' §S
07BE " CF rd

0808° F
f0cTer” g
010C'CF 814 EF

| Eml

M=2OMTNOWNOOO~N
=A== OO N MOO

- LT NN~
—=OmMTMe

00 =20 =200 = OAND MO
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H13
gion code }8-5 P-1gg‘ ?i 16 8? ! ?gng

} 27 ; get terminal input device's characteristics
} 49 getdvi_ter_i:
1 ?ovnansu ter_i dsvnan. - ; of term na§

1 tllsttu ?otav1 tmlst ; wusing this item

PUSHL
PUSHL 0
PUSHAL ctdvi itmlst
PUSHAQ u er_1i _devnam
MOVZWL ,~(SPY
PUSNL l

LLg #8,G*SYSSGETDVI

blbc r0, 208

gnpb ‘dovcllss. #dcS_term ;2 terminal?
ne
bhc Otttx loucr. ‘dovdopond 103 lowercase?
bs #tecSv
bisb s*#latecSv_etSlc, b*etyp
108: $assign_s -
“devnam=w“ter_i_devnam, - ; terminal in
chan=w* tor i~ chan : into toruina
CLRQ SP7
PUSHAW w “ter_1i_chan
PUSHAQ w*ter i _devnam
CALLS  #4,G*SYSSASSIGN

2

P S ——
OO0 OO0O00O
(o Al A Y LV AV LV LV
OV ~NOM\WNSWN

1061 bsbw success olso die ; abort unless success completion
}Ogg brb 60% : go continue
1866 208: bs tecSv_etSlc, b‘ctzgc(r11) : Llower case for non-terminals

bisb “riatecSv_etSlc, ctypo(r1
1065 Sopen - ; open
1066 fabsu“input sys fab : sys$input

PUSHAL w*input sz

CALLS lSt. MPY SVSSOPEN
1067 movl w*input_ [s fab*fabtl Stv, w*err_msgvec+8 ; save the STV value
1 63 bsbw success_e ; abort uUnless success completion
1 cmpb g nput_sys_ Ylb*f:bSb rfn. #fabSc_vfc ; vfc record format?
1070 bneq : nope
1071 movl lrnss fsz, r0 : pre-set bad vfc sizo error
1 7§ cmpb w*input_sys_fab+fab$b_ fsz, linput v c s i vfc size correct?
107 bgtru SO& : nope tﬁ an error
} ;g 308: glpb ‘alnput sys_fab+fabsb rfn. lfOBSc stn : stream record format?
1 79 isb #fabSm_cr, w*input sys,tob*fngb rat ; yep, set implied Lf/cr
1077 40%: connect - : connect
1078 ra =w*input_ sys rab : to it

PUSHAL w*input_s 2

CALLS ISS MPT, E SYS CONN;
18?9 mov W input S_ rab*rab L ~Stv, wherr _msgvec+8 ; save the Slv value
1 go sgs: bsbw success o se_die : abort Unless success completion
1081 60%: : continue

Page
AT MAR;3 ’ (? )

; get terminal input characteristics
Sgetdvi : get dovicc charactcristics
nput device

; non=terminal if any failure

etSlc, b e(rif es, allow lo case input
ZE o(ri { e v

3 assign channel for terminal input
ut device name
input channel
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TECONAT VAX=11 TECO 16-SEP=-1984 02:11: AX/VMS Macro V04-00 Page
v39.02 lnit}alization code 1 -SEP-lggA ?5:16:8? !TECO.SRC’TECONAT.HAR:S ’ ({3)
} } 2 ; get terminal output device's characteristics
1 1085 getdvi_ter_o: : get terminal output characteristics
1 1 9 $getdvi_s - : get device characteristics
1 1 evnam=w"ter_o d’vnan. - ; of terminal output device
1 1 tulstsu“?otBVY_ tmlst ; wusing this item list
7 7 01 CLRQ -(SP)
8 oD 015A PUSHL #
000" CF D? } : :3§=kL . tdvi_itmlst
. whgetdv mls
3092' F 9F 165 PUSHAQ u‘gor o_devnam
E 3C 188 MOVZWL #0,-(SPY
b0 01 PUSHL #
00000000 GF FB 1?3 CALLS #8,G*SYSSGETDVI
8 o0 01 1089 ushl #0 ; guess at no terminal data to look at
73 59 176 1090 Lbe rQ, 708 : non-terminal if any failure
00°'8F 0000'2; 1% };z }031 g:gb ;agnvclass. #dcS_term :ot:rninal?
50 OOOC'EF 9 O017F 1§9§ aovgb u“govnal‘ r0 : yo%. address the device name string
SF BF 0 91 0184 1094 108: cmpb (rO)+, #%a/_/ ; a oadin? underscore?
FA 13 0188 1095 beql 1?8 $ {03 go ignore it
5454 BF FF A0 B1 018A 1 99 cmpw  =1(r0), #*a/TT/ : is ft'T1C" format?
2F 1; 19g 109 bneq 20$ : no, so no decode
OOFB'CF 01 A0 41 8F 8 19 1893 subb3  #%a/A/, 1(r0), w ter_o_unit+{ ; set controler # = 256.
OOFA'CF  O04C'CF AOD 019A 109 addw w*unit, w*ter_o_unit ; plus unit number
50 _0004°'CF DE O1A1 1100 20%: moval w“devdepend, r0 ; address device dependent bits
0 07 E1 01A6 1101 bbc #ttSv_Lower, (r0), 308 ; lowercase?
00'AB B7 01AA 110§ decw b‘ouftag(r1f) : yes, say no case flagging
05 60 09 EO O1AD 118 308: bbs ses _urlg. (rO)‘ 408 ; wrap?
181 1104 bs #tec$i_etStru, bXetype(ri1) ; no, indicate truncated Lines
00 00'AB 08 E3 O}gl el #tecSv_etStru, b*etype(r11),’ 300028
05 60 OF E1 0186 1185 40$: bbc ltttv_eightbit. (r0), 508 ;: eight=-bit?
1BA 1106 bs #tecSv_et$8bt, b etype(ril) ; yes indicate 8-bit terminal
00 00'A8 OC E3 }E? s bbcs  #tecSv_et$8bt. b etype(ri1), 3000%s
11 60 OC 1 01BF 1107 203: bbc #ttSv_scope, (r0), 608 ; scope?
00000000°'EF  0000'CF  OC 8 01C3 N s movce #getdvi_info_Llen, w*getdvi_info, errbuf ; save scope info
6 00000002°'EF E 01CD 1N movab errbuf+2, (sp) ; "and form pointer to the data @ +2
104 1110 60$: $assign_s - ; assign channel for terminal output
106 1111 devnam=w"ter_o_devnam, - ; terminal outut device name
104 1112 chan=w*ter_o_chan : finto terminal output channel
7€ 7C 1D4 CLRQ -(SPY
F&'CF F 01D6 PUSHAW w“ter_o_chan
75'CF F O1DA PUSHAQ w*ter_o_devnam
00000000'GF 04 F 1D§ CALLS  #4,G*SYSSASSIGN ‘
FEBF' 3 1€5 1113 bsbw augcoss-olso_dio ; abort unless success completion
n }E: }}}g brb 0 : 90 continue
. 7 O1EA 1116 70s: decw b*euflag(ril) : no case flagging for non-terminals
e 1ED 1119 bs ltocSv_gtS bt, b‘otypo(r|1) ;_B-bit .33. ?or non-terminals
00 00'AB OC E3 }E 800048 : bbcs #tecSv_et$8bt, b*etype(ril), 30004$
1F 1113 $create - : create
ST - & }: m - fab==“ogtgut_?yg_tob :  sysSoutput
’ w output_sys
00000000° GF 81 FB O1F CALLS #% .TgP1.GXSYS;CREATE




J 13

TECONAT VAX=-11 TECO -SEP=-1984 X/VMS M v04-00 Page 37
vES 02 lnithliution code 18-36P-198¢ 98:13:08 MMEEEMSatasEooNas BoR: 3 v 35
010C'CF 0&58 CF 1F0 1N ? movl w*output_sys_ ’bOflel stv, w “err_msgvec+8 ; save STV value
& 1 bsbw success_else_d ; abort unless success completion
7 1N i $connect - : connect
N rab-u output sys rab : to it
C' F DF 7 PUSHAL g $Ys
00000000 F 0 CALLS css TMP1.6 SYSSCONNE T
010C*CF 08A8' g 12 1124 mov l whoutput_sys_ rlb*rab L -Stv, w “err_msgvec+8 ; save STV value
1 1125 bsbw success_else_die ; abort unless success completion
1C 1126 80s: : continue
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TECONAT VAX=11 TECO 16=-SEP=-1984 02:11: AX/VMS Macro V04-00 Page 38
v§8.02 lnitiallzation code 18-SEP-1834 ? :16: 2 !TECO.S&C’TECONAT.HAR:S v (14)
}E }} 3 : get terminal command device's characteristics
1C " ? getdvi_ter_c: ; get terminal command characteristics
1C " $getdvi_s - : get device characteristics
1C N § devnam=w“ter_c_devnam, = ; of terminal command device
1C N itnlsttu“?otavT_italst : using this item List
78 7C 1C CLRQ -{SP)
8 DD 1 PUSHL #
0 ©DOD PUSHL #
000" CF F PUSHAL w*getdvi_1itmlst
078'CF F PUSHAQ w*ter_c_devnam
E C & MOVZWL #0,-(SPY
] D PUSHL #
00000000 GF FB F CALLS _ #8,G*SYSSGETDVI
82 9 6 1134 blbc r0, 108 ; non-terminal if any failure
00'8F 0000'CF 1 9 11gS cmpb wdevclass, #dcS_term ; a terminal?
1A 12 F 1136 bneq 108 ; nope
0241 1137 $assign_s - ; assign channel for control/c ast's
8 41 1138 devnam=w“ter_c_devnam, - ; terminal command device name
41 1139 chan=w*ter_c_chan : into terminal control/c ast channel
7E 7C 0241 CLRQ -(SPY
00F8'CF ;F 8 43 PUSHAW w*ter_c_chan
0078 CF F 47 PUSHAQ w*ter_c_devnam
00000000 GF 24 FS [ CALLS  #4,G*SYSSASSIGN
FES2' g 5¢ 1140 bsbw success_else_die ; abort unless success completion
FF74' 30 5 1141 bsbw enable_ctrlcast ; go enable the control/c ast
FE4C' 30 8 58 114§ bsbw success_else_die ; abort unless success completion
5B 1143 108 ; continue




TECONAT VAX=11 TECO 16-SEP-1984 02:11: AX/VMS Macro V04-00 Page 39
v§9.02 Initialization code 1 -SEP-1936 ?3:16: g TECO.SRCITECONAT.MAR;3 ’ (15
g }}25 : pre-load q-register y (command decoder) and 2z (command line) if needed
g }}2? .enable Lsb
ga 1143 pre_load_q_regs: ; pre-load g-registers y and 2
56 0050°'CF DE 1150 moval u‘zli-roq_gotcmd. ré ; get address of request block
6 DOF 11; pushal (ré) ; set address of request block
00000000 GF 1 Fg 1 calls #1, g*sysScli 3 go get the command line
B 115 tstw rg : the special "'no command'' status?
0 ;f B 11;4 bneq 1 3 ; nope
021 90 }} 5 brw 2108 : yep, go continue
FE34' 30 7 115? 108: bsbw sucgoss-elsv die ; abort unless success completion
00°'8F 03 Ag 1 73 1 s cmpb LiSb_rqstatTré), #cliSk_verb_edit ; is this EDIT/TECO?
0 13 78 115 beql %05 ; yes
011t 3 ;s }}g? brw 108 : no
55 009A°'CF 75 § 7D 116§ 208: movaq w*cli_verb_teco, rS ; set TECO verb
01E8B ; gg 116 bsbw 200$ : as command line verb
0119'CF F 0 1164 pushaq w*cli_qual_command s /COMMAND
00000000'GF 01 FB 89 1165 calls M, g'clitpresont : present?
40 50 3 92 1166 blbc r0, 308 ; no, go use /NOINI
006C' CF F 93 1167 pushaq w*cli_result ; address result string
O119°'CF 7F 0297 1168 pushaq w*cli_qual_command : /COMMAND=f1ile
00000000 GF OS FB 8 98 1169 calls IS. z'clitget-valuo : have a value?
36 5 9 A2 1170 blbc r0, &40$ : no
006C*' CF F 8 AS 1IN pushaq w*cli_result : yes, form
0100°CF 7F AS 117; pushaq w*cli_dollar : Tsfile’
006C°'CF 7F 0Q2AD 117 pushaq w*cli_result : in the result
00000000°'GF 03 Fg 02B1 1174 calls #3, g®strS$concat : using concatenation
FDEC' 30 0288 1175 bsbw success_else_die ; abort unless success completion
02BB 1176 $crelog_s - ; create a logical
0288 1177 tblflg = #2, - : use the process table
8 BB 1178 lognam = w*cli_init, - ; logical is TECSINIT
BB 1179 eqlnam = u“cli-resu(t ; with this equivalence string
00 90 8 BB PUSHL #0
006C"*CF F BD PUSHAQ w*cli_result
0109°'CF 7F C1 PUSHAQ w*cliinit
82 0D c; PUSHL #
00000000° GF & F C CALLS  #4,G*SYSSCRELOG
FOD6' 3 CE 1180 bsbw success_else_die ; abort unless success completion
8 N Bl }} i brb 40% ; else continue
S5 O00A6°'CF 7 D§ 1183 30s: mova *cli_no_ini, r5 ; set /NOINI
155 ;5 D8 1184 bsbw 2008 - - ; and go add it
0128'CF ¢ DB 1185 40S: pushaq w*cli_qual_create : /CREATE
00000000 GF g1 fg OF 1 9 calls MM, g'clitprosont : present?
08 50 ; Es 1" blbs r0, 508 : yes
55 ooea'sr E9 N 3 movaq ‘ali_no,croate. rs : no, set /NOCREATE
21 F ; EE N bsbw 50 $ : and go add it
0136°CF F F1 1190 508: pushaq w*cli qu’l_nenorg : /MEMORY
00000000°" GF 1 Fg FS 1191 ctlls #1, g*cliSpresen : present?
Og 0 ; FC 119; blbs r0, g : yes
55 00C5°'CF FF 119 movaq “clLi_no_memory, r5 : no, set /NOMEMORY
0169 ; 6 119 bsbw 50 5 : and go add it
55 OEE ' CF E 7 1195 608: movaq w*cli_space, rS : set as the ncxs separator
06C'CF 7F C 119 pushaq w*cli_result : address result string
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TSSONAT VAX=11 1
v39.02 Initialization code -SEP-1984 TECO.SRC E ONAT.MAR;3 (15
0144°'CF 7F 10 1197 ushaq w*cli_qual_execute s /EXECUTE=file
00000000‘?? F 12 1123 2allsq ", g'gltsict_valuc : present with a value?
‘18 g }B } 4 g?gl rQ, ;8‘ : roaonbcr /EXECUTE s oxistcncc
¢ r0,
00000078'FF  &74E554D B8F f 1201 movl  #%a/MUNG/, @cli_command l ine+s yes,, chango verb to MUNG
0141 ¢ 180¢ bsbw 2008 “; add the " " separator
139 F 1 bsbw $ : add /EXECUTE voluc
55 ODEE'sf E ; 1204 movaq g‘cli space, r5 ; set """ as tho next separator
5 1 : } 5 brb 0% : and go check out P1
002C'CF TF 9 1 9 708 pushaq w*cli_result ; address result string
015D°'CF 7F D 1 8 pushaq w*cli qu?l output : /OUTPUT=file
00000000 GF Fg &1 1 calls 08. a'cl $get_value : present w th a value?
13 48 1210 blbc r 0$ : no
12 8 0348 1211 bsbw iOéS i yes, a add the '' '’ separator
1A gki 1 1; bsbw 90% ; add IOUTPUT's value
55 OQOF7'CF 5 51 121 movaq u‘ali equals, r5 ; set '
0117 3 g56 1214 bsbw 200$ : and add it
55 OOE6'CF 7E 59 1215 movaq w*cli_null, rS : set '“'* as the next separator
ooeS'cr 7F SS 1 1; 80$:  pushagq u‘cli_rosu[t ; address result string
0153°'CF 7F 0362 121 pushaq w*cli_parm_p1 : parameter P1
OOOOOOOO'GF06 28 Fg 8328 } }3 gtéls 08. 8;§lnget_value ; present with a value?
¢ r ;i no
00FD go 0;78 1220 sbw 200s :yes, add the ' ' or '"' separator
00FS 0 0373 1221 bsbw 190% ; add P1's value
16 54 8 76 1 g 90$: blbs ré, 1008 ; all dono if /EXECUTE exists
0168°'CF F 79 1 pushaq w*cli qual read_only s /READ
00000000°'GF 01 FB 7 1224 calls n, ?'cl $present : prosont?
08 50 ;9 86 1225 blbc r0, 100$ : no
55 00D6°'CF 8387 1 g movaq w*cli_inspect, rS ; yes, set /INSPECT
0OE1 3 gsc 1 bsbw 200$ : and go add it
08 A6 0074°'CF BO F - s 1008: movw w cli_command_Lline, clisw rqsize(ré) ; set command Line length
0C A6 __ 0078'CF 0 0395 1 movl whelis connand Line+4, cliSa_rqadd ddr(ré} ; and address
OO'Ag C 0398 1230 1108: movawl b‘qrsfor(r 1, r3 : got pointor 1o q-register storage
50 1 9A 039F 1231 movzbl #*a/Y/-*a/A/, r0 ; we're loadi na q-regi stor
51 0000°'8F 3C A; 1 § movawl ltococnd siz, rl ; get connln ocodcr s si zo
52 0000°'CF 98 A7 1 ; movab w*tecocmd, ré : and a po nter to it
00A1 g AC 1234 bsbw 180 : 90, load a ?-ro gister
50 19 A gaf 1235 movzbl #*a/1/-*a/A/ : we're load n? q-register 2
51 80 A6 3 e 1 9 movawl cliSw rqsizeir6). r1 : get connand ine's size
52 C Ag g 5 3 movl cliSa_rqaddr(ré), r2 : get a pointer to command lLine
8 9 A1 gs bsbw 1808 ~ : 9o load a -register
56 O0378°CF DE D 1 moval w*indir_cmd_ fab ré ; get the indirect command fab
€2 1240 getdesc tng strTn? ; reset £ get desc for temp string
S0 9858‘(8 9 E novab wt np str ng_buf, r0
movl 0,
70 gF gc CA movawl ltlp string siz, =(r0)
€D 1241 $trnlog_ s - : tronslato
b 1 ki ?nal-ini dcd_lognam, - ; ? ical name ''TECO"
(b 124 buf=(rQY : putting result into the temp
DD cD PUSHL
0D CF PUSHL
D D1 PUSHL l
F D PUSHAQ (r0)
008BE 'EF g g ;3§=kn goi dcd_lo
n ognam
00000888965 86 FB pD CALLS #6,B*SYSSTRNLOG
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v§$.02 lnitiallzation code 1 -SEP-1336 ?5:16: g TECO.SRCITECONAT.MAR;3 ’ (15
0000 8F 0 E& 1244 cmpw rQ, #ss$_notran : did anything happen?
3? ié E9 1245 bogl 1?68 - : nope, zso pgc-sgg "'SYSSLOGIN:TECO''
FCB9' EB 1 49 bsbw success _else di; ¢ abort unless success completion
2C B6  4F434554 BF 88 EE 124 movl  #*a/TECO/, afabSL_fna(ré) ; set file name of simply ''TECO’
34 A6 & F6 1 63 movb #4, fabsSb_fns(ré) : and its length
FA 1249 1308: Sopen - ; open
FA 1250 fab=(ré) : the command decoder file file
6 DF FA PUSHAL (ré)
00000000 GF 1 Fg FS CALLS #$S.TMP1,G*SYSSOPEN
3F S0 s 403 1251 blbe r0, 1 ; branch if failure of any type
03 1F Ab 1 0406 1 Si cmpb faBSb_rfn(rb). #fab$c_vfc ; vfc record format?
Og 1% 40A 1 g bneq 140% : nope
0C 3F A 9 4 1254 cmpb aSSb-fsz(rb). #input_vfc_siz ; vfc size correct?
eA 1A 0410 1255 bgtru 60% ; nope, so don't use it...
06 1F 82 ?1 §2} } g? 1408 : gnpb {; gh-rfn(ré). #fabSc_stm ; stream record format?
ne : nope
1E A6 02 Bg klg 1 Sg bisg #fabSm_cr, fab$b_rat(ré) ; afuays say implied Lf/cr for stream
841c 1259 1508: S$connect - : connect
41C 1260 rab=afab$l_tecrab(ré) ; the correct rab
54 B6 DF 041C PUSHAL afab$L _tecrab(ré)
00000000°'GF _ 01 FB 841F CALLS  #$S.TMP1,G*SYSSCONNECT
13 50 E9 0426 1261 blbe r0, 160% ; branch if failure of any type
57 00000000'§F DE 0429 1 6§ moval c¢mdprm, r7 : get where to store fab pointer
67 6 go 8& g 126 movl ré6, (r?) ; set file as open
08A6' 30 04 1264 bsbw set_filename ; set the file's name, etc.
00'AB 57 B0 84 6 1265 movw  r7, b*indir(r11) : set indirect as active
W N ofs@ }229 brb 210s : go continue
043C 1368 1608: Sclose - : close
043C 1269 fab=(ré) ; the (bad) command decoder file file
66 DF 043C PUSHAL (ré)
00000000°GF 01 FB 043; CALLS  #$S.TMP1,G*SYSSCLOSE
0020°CF 03 3C 0445 1270 1708: movzwl #ter_i_buf_pre, wter_i ; set count for pre-buffered input
00'AB BO 044A 1271 movw #2, B*Indir(r1) ; preset for initial command string
11 235 } ;g brb 210s : go continue
00'AB4O0 51 DO 845 1274 180%: movl r1, b*qarray(r11)[r0] ; set q-reg's size (clobbers next!)
00*'AB  S1 AQO 0455 1275 addw Y. b‘?z(r1¥) ; count as q-reg space used
00'AB OO'Ag B1 0459 1276 cmpw b*qz(r11), b*gmax(r11) ; did we run out of space?
0 1A 458 1277 bgtru abort_exit : whoops, we di
63 62 51 Sa 0460 1 73 move r1, (F2), (r3) : load the q-register
5 2gg } 70 rsb ;s exit
§46 1 abort_exit: ; set abort error code and exit
50 gO' C 0465 1 movzwl s*#ss$_abort, r0 : set a fatal error code
FC3C' $N 0228 } ? brw success_else_die : and go exit with it
55 006C'CF 7€ 04 1285 1908: movaq w*cli_result, r5 ; address the cli result string
65 7F 04 1 9 2008: pushaq (rg) ; arg #2 is string to add
00000000 ggra'cr zg 2; } put?aq ,Ecli'cglgand_l;ne s arg # iz :tr;??i:o add to
’ calls . g%strSappen : go append to
ch;' N 270 } § brw success_else_die ; error check and ex?t
2§§ } 83 2108: ; continue
4 1295 .disable Lsb
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v§$.02 Initialization code 18-SEP-19SA ?5:16: g !TECO.SRCSTECONAT.HAR:S ’ (16) V§9
2 } §S ; clean up and enter compatibility mode
4 1 9 clean_up_and_start: ; clean up £ enter compatibility mode
00F6"'CF Bg 4 1 93 stw w ter_o_chan ; is there a terminal output channel?
| 484 129 beql 108 ; nope, so no mode(s) to reset
OOOA'SF DD 0486 1 80 ushl w*devdepend ; save the original characteristics
0004'CF 00100008 8F A 048A 1301 icl #teSm_halfdup!ttSm_escape, w*devdepend ; full dup € not escape
0p5D"' 30 0493 1 8§ bsbw tec$setmode : go reset the terminal mode(s)
0004 "' CF Qs gg 496 1 movl (sp)+, w*devdepend : restore original characteristics
FCO9* 498 1304 bsbw success_else_die ; abort unless success completion
49E 1305 108: $dclemh_s - ; declare compatibility mode handler
49 1 89 addres=w*tecScmtrap, = ; traps will come here
49 1 t6g0=l1 ; and we want compatibility traps
1 DD 049 PUSHL M
0 DD 0Q4A PUSHL #0
. 0000'CF DF 0Q4A PUSHAL w*tecScmtra
00000000 GF 0; F 4Ab CALLS  #3,G*SYSSDCLCMH
FBF7' 3 4AD 1308 bsbw sgccoss_olso_dic ; abort unlosi success completion
¢ 7C 0480 1309 clrq r : clear r2, r
5« BE DO 04B2 1310 movl (s?)+. ré P set rb if scope terminal, else clear
55 5B 0 04B5> 13N mov L ri1, r5 . set teco's r5 r/w area pointer
56 00000000'EF E 0488 1 15 movaw spset, r : set to reset the sp stack
83C00000 8F D 0Q4BF 131 pushl lpsltn_cn!<psl$c_useraps[3v curmod>!<psl$c_userapslSv_prvmod>
00000000 EF F 04CS 1;14 ushaw tecost : stack startug pc7psl pair
FBA9' 31 04CB 1315 re start_teco ; go purge working set, then start up!
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.sbttl
org
.align page

tecScmtrap:
subl3
movzbl
bicl
addl
bbcc
movawl

a
bsbb
movq
movq
movq
movq
movq
rei

108:

208:
308:

mov L
casew

.word
.word
.word
.word
40$:
brw

other

==
.word

other

.Macro
$'name

.endm

508:
608:

casew

other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word

18-3E5-198% %8:1

Compatibility mode trap handler

tecoexe

e tatalatals’t 12 £ T Tk 3

sp., w"saved._s
ipcodo(r10). g1.

tecSwait-308%
tecSoutput=-30$
50%-30%

tec$input-308
abort_exit

name
<<, =60%>/2>+1
tec$'name-60%

rl, #1, #<<708-608>/2>-1

width
tecSwidth-60%
eight
tecSeight=-60%
truln
t g{truln-bos
toctoiflg-60$
goctgoxit-bos
gtc;sizcr-bos
tec$date-60%
t u;
tecStime=-60%
gotfl
ec$getflL-60%

#<<408-3085/2>=1

; & => trap
; reference only
; whoops, we must abort...

85 AX/VMS M cro v04-00
ECO.SRC TECONAT.HAR:3

Page 4
T 0. ’ (1;)

compatibility mode traps come here
form ctlSal_cmcntx pointer
get lou byte ?f instruction
pr =clear c-b t in saved ps
adjust saved pc
check for automatic '
move return add
then 'pop'
go dispat§

'rts pc'’
ress to saved pc
the stack

on exception code
restore r
restore r
restore ré&,
restore sp. junk r?7
stack pc/psl pair
back to whatever...

=
Vi —

calling sp for error exits
; enter proper routine...
rtferencc only
1 => bpt
=> iot
=> emt

: 'emt' is other...
reference only

new terminal width

change 8-bit terminal mode
change truncate Lines mode
get ej flag information
process special functions
get additional memory

get date

get time

get files opened

VA
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1365
1366
1367
1368
1369
1370
13N
1372
1373
1374
1375
1376
1377

1378
1379

708:

C
il?ty mode trap handler

other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word
other
.word

brw

-SEP-1
=5EP=1

tcc:ansv-GOS
toc;outsv-bos
tocggakup-6os
gccs etbf-60%
tocSYutbf-bos
cls
tecSclsfl=-608%
clsof
tecSclsof-60%
aller
tecSaller-60%
kilfl
tecSkilfL=-60%
delln
tec$delln-60%
delch
tec$delch-60%
xitnw
toctxitnw-bos
texi
tocStexit-60$

abort_exit

AX/VMS M b=
gi 16 S cro vV04-00

TECO.SRCITECONAT.MAR:;3
; switch input file

; switch output file

; page backwards

; get input

; put output

; close input & output files
; close output files

; finish up on error processing
; delete output file

; echo Line deletion

; echo character deletion

; stop teco terminal hacks

; exit from teco

; reference only
; whoops, we must abort...

Page

bl
(17)
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TECONAT VAX=11 TECO -SEP-1984 02:11: AX/VMS Macro V04=00 Page 45 TE!
v§$.oz Initial start up }8-SEP-1834 ?5:16:82 !TECO.SRC!TECONAT MAR;3 . (18) Vg‘
; 1 .sbttl Initial start up
¢ start toco ; initial start of compatibility mode
77 1 purgus,’ - ; purge our working set
77 1 nadr=b*10$ ; do the whole thing...
87'AF TF 77 PUSHAQ b*10$%
00000000 GF 1 FS 7A CALLS  #1,G*SYSSPURGWS
00 B 9 bsbw success_or_announce ; announc ‘ failure...
& 1 clrq r0 ; clear r
? } rei . enter conpatfbility mode...
0000000 §7 1 108: .lon ; purge from 00000000
FFFFFFF 88 1 9? .long ?331-1 : 9,l"FFFFFF
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TECONAT VAX=11 TECO 16=-SEP-1984 :11: AX/VMS Macro V04=-00 Page
V§$.02 Error processing, etc. 1 -SEP-1934 ?i:lb:gg !TECD.SRC’TECOHAT.HAR:S ’
: ! 33 .sbttl Error processing, etc.
: } 82 .enable Lsb
51 910(' F B o 9? 108: moval w orr ns,vcc*&. r1 ; point to message vector spot
1 . 6 1 93 movl r0, l : load the orror status code
n 000F0081 F D 97 139 movl 0<<8'4' 1>816>!1, =(r1) ; fac sev, id, & text; arg count = 1
00*' 06 A1 ?1 9 1400 cmpw 3 r1), s*#rms$_ norn 6553 is thfs an RMS error?
0 A2 1601 bneq (1} 3 : nope
6 s Ab 14 ; incw (r1) ; yep, include the STV value in count
: rs ; ex
§: }z 2 208 b it
A7 1405 success_else_die: ; abort unless success completion
FC SO0 EB8 O0O0A7 14 ? “blbs™ r0, 208 ; exit if success
SO DD AA 14 usht, rO ; failure, save the exit reason code
14§ 10 AC 1403 sbb success_or_announce : go announce the failure
6E 7 CA QOAE 140 bicl #stsSm_severity, (sp) ; trim out severity codo in status
8E 10000004 8 C9 00B1 1410 bisl3 #stsSm_inhib_msg! stsSk .severe, = ; inhibit nsg severe error
0 0B8 1411 (sp)¥, r0 ; get forced on in status code
089 141§ $exit_s - ; force an image exit
% 833 14 ggg;L= rOo : with the reason code
r
00000000°'GF 01 FB §8C 114 CALLS #1,G*SYSSEXIT
0C 1415 success_or announco ; check for success; announce if not
7F S0 %8 0C 141? bLbs 60% ; exit if success
c8 0C5 141 bsbb 10‘ ; go format the message vector
00C 1&13 $putmsg_s - ; use SPUTMSG to format the nessog
00C7 141 msgvec = (r1) ; using the built up message vector
00 DD 00C? PUSHL #0
00 b5 00cs PUSHL 40
61 DF 00CD PUSHAL (r1)
00000000°'GF 04 FB O0OCF CALLS  #4,G*SYSSPUTMSG
0D6 1420 ;bsbw success_or_announce ; announce any failure...
05 088; }2 1 rsb : exit
8007 14 i success_or_abrt: ; check for success; abort if not
6A 50 §8 8807 1424 bLbs r0, 608 : exit if success
20 AA  00000000°EF E DA 1425 novau ioerr, i _pcir10) ; else exit to teco's error processor
i 1N 8%2 }2 ? brb 308 : continue
E4& 14 s success_or_cls: : check success; close & error if not
D SO E E6& 14 bLbs : exit if succ031
51 & A6 D E7 1430 novl faﬁtl tecrab(ré)‘ : ge th! rab Ro nter
010C'CF OC A1 D EB 1431 mov | rab$L stv(rl), w'err nsgvcc+ ; save the STV value
01 B8 F1 14 ; ushr l‘u(rO : savo the failure status
F3 14 close - : clos
FS 1434 fabstrb) : the (failing) fab
DF F PUSHAL (ré)
00000000 ° GF FB F CALLS ISS THP1,G*SYSSCLOSE
1 BA FC 1435 popr 1 n<r0> ; restore the failure status
FE 14 9 success_or_err: ; check for success; error if not
43 50 FE 14 “blbs 8 60% : exit if success
C 1§ }2 g 30:50 g;gh 10§ : go format the message vector
ra
6A 2222 8F 3¢ 0N 144 movzwl #$8888S, i_r0(r10) ; set rad50 code for ERR into saved r0

(%)
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Error processing, etc. SEP- TECO.SRCITECONAT.MAR;3 (19)
00000000'8F 04 A; ?1 }? }223 g:g: 2(;1). #rms$_1Inf 3 ¥:s the Q:ror file not found?
3 was no
02 M 81 8 }} }223 redS0 ?agw f, 2(r1) ; 1t was, set only message text
6A 786 BF C 0116 144 movzwl #$8888S, i_r0(r10) ; set rad50 code for FNF into saved r0
00008038'er 4 11? 1469 40$: glrb errbuf E : a‘nptlg the error nossago buffer
1 T4k putmsg_s = ; use SPUTMSG to format the message
121 1643 msgvec = (r]), = ; using the built up message vector
121 144 actrtn = b*70$ ; catch the message w/ action routine
08 o0 O1 PUSHL #
0 b 0N PUSHL #
SE'AF DF 1 PUSHAL b*70$
1 OF O PUSHAL (r1)
00000000 GF 4 Fs 12A CALLS  #4,G*SYSSPUTMSG
FFBE g 131 1450 bsbw succoss_or_snnognco ; announce any failure...
08 AA oooooogo'er E 0134 1451 508: movab rrbuf, 1_r2(r10) : set error message addr into saved r2
& AA D6 013C 1LS§ incl ps(ri0) : set c=bit in saved ps
SE  OOE&'CF Dg 13F 145 movl w®saved_sp, sp : restore calling sp for error exit
0 0}2‘ }2?; 60$: rsb ; exit
165 1459 err ; errors come here
56 9E go 1645 145 movl 5(39)0. ré ; get pointer to: code, len, text
6A 86 C 0148 1453 movzwl (ré)+, i_r0(r10) ; set rad50 code into saved r0
50 gs 9A 014B 145 movzbl (ré)+, r : get Llength of text strin
FFFF'BF 080008800.5' r{s }g; 1460 movce r0, (r6), #0, Merrbfl-1, errbuf ; move message tex
63 94 0154 1461 clrd (r3) ; and ensure result is asciz
b6 MN }gé }225 brb $ : go set the message text address
003¢C §1SS 1464 708: .word “m<r2,r3,rb,r5> ; SPUTMSG action routine
52 04 BC 7D 0160 1465 movq ak(agS. r 3 ?ot message text descriptor
00000000"'EF  FFFF'8F 0 3A 0164 1469 locc #0, Merrbfl=1, errbuf ; Tind asciz ending of message buffer
FFFF'8F 0 81 19 146 cmpw r0, #errbfl-1 ; is the whole message buffer free?
14 1? 1 1463 baqu Bg ; yes, no need for prefixing
S 52 03 A 17 149 addw #3, r2, ré ; add prefix size to message size
5¢ S B1 0179 1470 cmpw r0, ré ; would the whole thing fit?
1 1F 017C 14N blssu 90$ ; nope
S0 0 A2 175 167; subw & rg : yep, remove prefix size from free
81 0AOD 8F 38 1 147 movw #<1088>113, (r1)+ : prefix message with <CR><LF>
81 99 1 g 1474 movb 9, (r1)+ ;  and <TAB>
61 50 00 63 g C 0N 1475 80$: moveS r2, (r3), #0, r0, (r1) ; move message text into buffer
6 & 018F 1679 clrd (r$) : and ensure result is asciz
SO0 D& 0191 1477 908: clrl r0 ; don't ?ut the message to user
04 }32 }:;s ret : when ] return to you
.disable Ls
194 1480 .disable Lsb
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.sbttl Control/c ASTs
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STs
1488
14 g tecSctricast: : control/c ast's come here
14 .word “*m&> : o _need to save any registers
14 9 bbsc ftecSy_etScc, etype+rSset, 108 ; user trapping control/c's?
14 mnegb . ;ftg+10rfsot : no, set th’ stop soon indicator
14 s bbc laoc v_etSxit, etype+riset, fos ; exit on control/c's?
14 mcomb #0, u‘ctrlc,f[ag ; yes, ensure flipped flof
1490 108: bsbb enable_ctricast : go re-enable the control/c ast
1491 bsbw success_or_announce ; announce any failure...
1495 mcomb #0, wctrlo_flag : say control/o is now in effect
149 $cancel_s - ; cancel all pending 1/
1494 chan=w"ter_o_chan : on the terminal output channel
MOVZWL w*tef o ghan -(SP)
CALLS  #1,G*SYSSCANCEL
1495 bsbw success_or_announce ; announce any failure...
}289 ret ; return
1&93 enable_ctrlcast: ; enable the control/c ast
149 $qiow_s - : set up the control/c ast with a gio
1580 chan=w*ter_c chan' - : using the control/c ast channel
1501 func=#io$_sefmode!ioSm_ctrlcast, - ; function = control/c ast
1502 E1=b“toc$ctrlcast : go to here on control/c ast's
LRQ -(SP)
CLRQ -(SP)
PUSHL #0
PUSHAL b“tecSctrilcast
CLRQ =-(SP)
PUSHL #0
MOVZIWL #io$_setmode!ioSm_ctrlcast,-(SP)
MOVZWL w“ter_c_chan,=(SPY
PUSHL #0
CALLS M12,G*SYSsalow
1503 rsb ; exit

——y
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v§3.02 Terminal output waits 18-SEP~1934 ?5:16:8§ !TECO.SRC’%ECONAT.HAR:S s (21)

}Eg } 5 .sbttl Terminal output waits
}Eg } ? .enable Lsb
1E0 1 8 tecSwait_done_Lf: ; wait for all output (inc. <LF>'s)
08F8'CF 03 90 1Eg 131 movb #2!1, w*ter_o_force ; say we're forcing <LF>'s also
0000"' 8F 0000000°'EF ?1 1F2 151 cmpw ttogtr #ttobuf ; is the terminal output buffer empty?
15 18 151 bneq  tecSwait_done : nope
00F0'8F ) 1FD 1351 tstl u“tor-? cc : any pending, saved <LF>?
p 1 1514 beql tecSwait_done ; nope
7€ 00'AB B0 ; 1515 movw b*outdnelril), =(sp) : {09. save current outgut done flag
00F ';F g& 1 19 clrl w ter_o_cc : forget about saving the <kr>
47F 0 B 151 bsbw echo : because we want to (re-=)buffer it
00'AB B8t 80 0 1513 movw (sp)¥, b*outdne(ril) ; restore original output done flag
1 1;1 tecSwait_done: ; wait for all output to complete
OOFE"'CF gl 88 12 1520 Bisb #1, w*ter_o_force ; say we're forcing terminal output
- iy 17 1521 bsbb tecSwait : and go do an initial wait
OOFE'CF 94 19 15 § clrb w ter_o_force : now back to non-forced output
oorr'gr 95 10 15 tstb w'ter_o_pend : is there an; in-progress output?
1 19 1 1524 blss ; nope, go exit
EC AF  9F 3 1525 ushab b“tecSwait_done : yep, check again after waiting
8 6 15 9 108: waitfr_s - ; wait for single event flag
6 15 efn=# : on this event flag
01 0D 8 g PUSHL ?M
00000000°'GF 01 B CALLS  #1,G*SYSSWAITFR
FES0 30 8 F 1528 bsbw success_or_announce : announce any failure...
1529 $clref_s = ; do an event fla? clear
8 1550 efn=M : on this event flag
01 DD PUSHL M
00000000'GF 01 FB 0234 CALLS  #1,G*SYSSCLREF
FEB4 30 0238 1531 bsbw success_or_announce ; announce any failure,..
023E 153; tecSwait: ; wait for output conglotiOn
0000'8F 00000000°'EF B1 3; 15 cmpw ttoptr, #ttobuf : is the buffer empty?
o8 13 47 1534 beql 20% : yes, go exit
00000000°EF B5 49 1535 tstw ttoint : no, can we initiate output? :
DS 18 024F 1536 bgeq 108 ; output's alroad‘ pending, go wait
0110 30 0251 1537 bsbw tecSoutput ; else initiate whatever output we can
05 02564 1538 20s: rsb ; exit
8 S5 1539
55 1540 .disable Lsb
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2A g%FE'

98 8F

58 8F

5 &0
20

7F BF

54
85

50 0000'CF 1B 61

"W O =MW WA OMNTIBWNO O™

OO0 WVWNO=DOV—-OO0 O= N=0O=2O=30O=30=30 =30 =300 ~IN

wo

6E E4
0000* 8F

13
00000000°EF 61
00000000 *EF

55

[« QW IV PRIV . b 1, CIV 1V |
WOWVMWNO MONMNIIWN

0000°'8F 04 5
00FD'CF 00

78 00F
00000000° GF

VAX=11 TECO
Terminal output

gi

~
ONSSNOMOOON SO0 >
&

ONNOS WD OSSN

MOOOM=MMNING VO MW NOM=MaTNLOPN—=OW—=23 T
o —O

0000

—
—

O
Vviviviviiaiuaiiaiiuiiaiaiiuiuivivivauviuiuaub || i IIbA

0000000000000 CO NN NN NNNNNNOOOOOD OO WVNIWNWAWVIVIVIVIVIVAIVASS SN SN S 8 8

ONO WS WIN =0 VONOWVIS W =000 NONW SN = OO0 00 NN WSS LN — OO0 ~NON NS

e ) el D e s ) )l ) ol ) ol ) el i D D D il B R B e e ol B B B B B B B B D BB Db oD B D oD B D

mmo>»>» MOV~

OO0O0O0O0O0O0OO0O0O0O0O0O0OO0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O00O

OMoENNOM ONDOOOOOM

3C

g i
88 1398
18 éz;

.sbttl

check_esc_csi:
bTbs
movq
movzbl
cmpb
beql
bsbb
cmpb
bneq
movzbl
bsbb
cmpb
blssu
cmpb
bgequ
cmpb
blssu
40$: movb
decl
beql
movtuc

NN —
(olele]
L2 1

bvs
508: rsb

60$: incl
decl
bneq
movab
cmpw
bgequ
mov L
movce
movab

; How about CTRL/

Terminal output

er_o_force, 40$

2

N~

s O
~

T

~

~-

+ 5~

5

~nN

@

e
-
-
o~

—bnwwtoao PNAPR N - ~
-
=
(¥
~N

)+, (r5)+

VIS ANAS A AR WAO -2~ X
OO OITOTIOTIO »WO9700 »W >

check_esc_csi

r3

r

t6s

408, (sp)
r0, #ttobfl

70§

rS (se)
r0, (rl1), ttobuf
(r$), ttoptr

movl (sp)+, r5
708: rsb
tecSoutput_ast:
.word “m<>
cmpw a4 (ap), #ss$_controlc
bneq 1
mcomb #0, w*ctrlo_flag
$cancel _s -
chan=w“ter_o_chan
MOVZWL w*ter o ghan -1
CALLS  #1,G*SYSSCANCEL
bsbw success_or_announce
108: decb 5‘tor_o_pond
bgeq 0s
incw ttoint
208: decw gaoint
bgeq $
bsbw tecSoutput_more

$ :
r0, (r1), #27, w*ter_o_table, r0, (r

and/or Binary

H’cro v04-00
CITECONAT.MAR;3

check ESCape/CSI sequences
no processing if forc n? output
c:pz ronainigg cougE/po nter

nd guess at an ape sequence
AT W H L

yep

et the next character

s it (7=bit) CS1?
nope

set correct final for CSI

get the next sequence character
control character?

¥.’¥tc3ll it finished...

H

yes, call it finished...

a final character to finish it?
not finished, loop for the next...
copy over the ESCape/CSI character
and remove it from the count

no more, jgst go exit

ITATETE TR TR PR TRE A TA PR TR PR PRA PR PR PR TR PO T

another ESCape/(CSI, go process it
exit

LER X1

advance the remaining pointer

and decrement the remaining count
more to look at, go exit
no more, change return to finish up

yep, don't, it's junk anyway...
else save dst ptr (clobber return)
re-buffer unfinished ESCape/CSI seq
setting a new buffering pointer
Output?
: rc?goro destination pointer
ex

terminal output done ast comes here

*e

completed under control/c?
nope
say control/o is now in effect
cancel all pending 1/
on the terminal output channel

"Ovevevenene

SP)

announce an‘ failure...

one less output request is pending
other(s) pending, really count it
else fak? the count
say terminal output gonplotod
something else is going on, return
else try for more output

Ve B 0o BB e B

o b

EL or higher (also controls)?

) ; try move rest of data

about to re-buffer the whole buffer?

72
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00F2'
2

00F3'CF
08C4'CF 1E

CYPO0 MO =SOOW
MMM AL TIVIN) TN

00000000 GF
010C*CF

52
53  00000000°
0D

0A

0200 8F 08BE'

08C4'D

00'AB 02
00000000 EF

50 _00000000°'EF 0*
51 00000000°'EF §80 :E;
00000000 EF 000 '8
04

VAX=11 TECO
Terminal output

04 F3 1
3 19%
F& 159
Fé& 1
D F& 1600
-] Fé6 1601
1 FA 1 g
1 FC 1
98 Qoré et
97 16
1" B 12
A 1608
%0 03A 1ege
9E 318 1611
1A 161§
1A 161
DF 1A
FB 031
PO 03 1614
B4 032C 1615
& 0330 1619
1 0334 161
0337 1618
BE Og 7 1619
D0 0339 1620
% 03¢ 1601
1 033 ez
91 4 1624
13 B 1625
B1 & 16
1F 354 16
10 5 1628
90 S 1629
D6 035D 1630
Bg 61 1631
F 65 16 ;
BA 68 16
7 A 1634
5 0 1635
71 16 9
71 1
AB 71 1 3
7 16
86 7 1640
Al 7 1641
s o33 1eie
G 0308 16
54 ' VIR ‘9
D AB 164
18 g das
8§ QI 6us

308:
.enable
108:

§03:

40$:
508:

60$:

708:

80S$:

90$:
1008:

tecSoutpgg:
tecSoutput_more:

1108:

ret
Lsb

incl
tstw
beql
bsbb
incb
bgtr
decb
brb

movb

pushab
movab
$put -

PUSHAL
CALLS
mov L
clrw
clrw
brw

pushr
movl
movab
cmpb
beql
cmpb
beql
cmpw
blssu
bsbb
movb
incl
incw
sobgtr
popr
decw
rsb

incw
addw
subl
clrw
movab
bbc
clrb
tstl
bleq
tstw
beql

i 16-SEP=-1984 02:11
18-559-1934 ?§§16

utput_sys_rab+rabSw_rsz

utput_sys_vitc

3
‘o
83
$
o
0$
aoutput_sys_vfc

§
3
2
’

<137>!13, w*output_sys_vf
b*90$
w*output_sys_buf, w*output

rab=w*output_sys_rab 3
u‘outgut_sxs rab
#$S.TMP1,G*SYSSPUT

AX/VMS Macro V04-00

:05
:85 TECO.SRCITECONAT.MAR;3

return

Page ‘2

; correct the buffer pointer

: yep, anything in the record yet?
not n? there
7[30 clear out the buffer

ndicat’ 1 more <LF> of grofix
go continue if < 128 <LF>'s
else back to only 127 <LF>'s
and go dump that record first

¢+l ; indicate a <CR> as postfix

; set to loop after record output

_Sys_rab+rab$lL_rbf ; reset pointer
put a record
to sys$output

w output_sys_rab+rab$l_stv, w*err_msgvec+8 ; save STV value

w*output_sys_rab+rab$w_rs2
w*output_sys_vfc
success_else_die F
l“n(r%.r3>
rl. r
ttobuf, r3
(r3)+, M3
40

108

u‘gutput_sys_rab*rabiu_riz

e

S8 N Ne N Ne e

(r3)+, Sw*output_sys rab+r
woutput_sys_rab¥rabSL_rbf
u;ou;sgt_sys_rab*rawa_rsz
re. :

"n<re,.r» :
ttoint

#2, b*outdne(ril)

ttoint

s“#io$_writevblk, ttomod
#ttobuf, ttoptr, ri :
ttomod

ttobuf, ttoptr
s“#1o%v_canctrlo, r0,
u;ctrlo_flag

1008
witer_o_chan
0%

1b

; always reset the record lLength
and the print control information
check for success completion; exit

save r2 & r3

move count over to here

?ot terminal output buffer pointer
s this a <CR>?

es,
s this a <L
yes, go set prefixing

. Moutput_sys_siz ; room left?

yep

nope, must dump this buffer

ab3l_rbf ; store a byte in buffer
: bump the record buffer pointer
: and count in record length
loop if more to go...

restore r r

ta%: away the buffer interlock

ex

o set gg;tfixing

terminal output initiation

say some output was done

more terminal output initiation
interlock the terminal output buffer
r0 ; form function code

get byte count in output buffer
reset the terminal output mode
and onpt¥ terminal output buffer
;s canceling control/o?

yes, so cancel it

anlth ng to output?

no hing there...

do we ha

nope

ve a real terminal?

|
2)

:
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V§9.02 Terminal output 18-SEP-1834 95:16: S LCTECO.SRCITECONAT.MAR;3 o (gs)

OOFD'CF 95 B2 1 tstb w‘atrto,flag 3 gop. ut is control/o in effect?
gz 12 B6 1 bneq 100$ : that 5 is, Junk ghis output...
C 98 B8 1 pushr  #*m<r2,r3,ré,r5> ; save r through r
S§ 8308‘CF E BA 1 g movaq w*ter_o_statusl, r2 ; guess at terminal output iosb #1
p) 00'CF 9 BF 1 g movab w*ter-o-bufi, r$ : and terminal output buffer #1
82 8 4 1 ? tstw (rd) ;s is that iosb ﬁurrontly in use?
A 1 Cs 1 g bneq 1208 ; nope, so use it
Si ogog'cr 7E c8 16 s movaq w*ter_o_status?2, r2 ; else use terminal outgut iosb #2
) 0200'CF  9E Cg 165 movab w*ter o buf?, r$ ; and terminal output buffer #2
D ga D 1620 1208: pushr #*m<r0,7F2,r3> ; save function, iosb, and buffer
18 6?000??00'8800. 1 F 84 1661 movtuc r1, ttobuf, #27, witer_o_table, r1, (r35 ; move data to buffer
85 18 E? 166§ bvc 1308 ; nothing special...
FE6F 3 E3 166 bsbw check_es _cii ; else go check ESCape/CSI sequences
g BA 8 Es 1664 130%: pogr #n<rl,r2, rd : restore function, iosb, and buffer
51 55 Cg E8 1665 subl3 r3, rS, rf ; and (re-)calculate the byte count
1 1 8 EC 166 bleq. 1608 : nothing left, just go exit...
OOFF ' CF 92 SES 166 inch w ter_o_pend ; one more output request is pending
06 1 8 F 1663 bleq 1408 : but only one, don't say busy
00000000'EF B6 F& 166 incw ttoint : else say terminal output now busy
00 DD 8 FA 1670 1408: ushl #0 ; preset no carriage control next time
10 OOFE'CF _ 01 50 3FC 1671 gbs " g“tor o_force, 1508 ; are <LF>'s being forced out?
OA FF A38; 11 028 }2;; gnpb ;;g; )[r11,7°M10 ; does the buffer end with a <LF>?
ne : nope
51 D; 8409 1674 dec? r : yeg. remove the <LF> from the count
6E 00BA0000 8F DO 040B 1675 movl #<<1a7>!10>316, (sp) ; and set <LF> prefix for next time
041 1679 1508: $qio_s - ; start the terminal output write
0412 167 efn=#1, - : using this event flag
0412 1678 chan=w"ter_o_chan, = : using the terminal's channel
0412 1679 func=r0, - : using the correct function
0412 1680 josb=(rd), - : using this iosb
841 1631 astadr=tecSoutput_ast, - ; catch the output completion
412 16 astpr-=rs. - ; passing the iosb pointer
n
841 16 pl1=(r3), - : from this output buffer
412 1684 pe=rl, = : with this byte count
0612 1685 4=w*ter_o_cc : using this carriage control
7€ 7C 041 LRQ =(SP)
OOFO'CF DD 0414 PUSHL w“ter_o_cc¢
00 DD 0418 PUSHL #0
51 DD 041A PUSHL ri
83 Db 04l PUSHL 15
r
FE9A CF F 04 5 PUSHAL toSSOUtput_ast
F 0424 PUSHAQ (r2)
7E C 04 3 MovZuwL r0,-(SP)
7E 00F6'C: Dg 2 =8¥£EL :;tor_o,chan.-(SP)
00000000 GF C F 4 § CALLS #12,G6*Svysselo .
O0FO"CF ) 16 9 movl (sp)+, wter_o_cc ; set carriage control for next time
FC 43C 16 bsbw success_else die : check for _success completion
C BA O043F 16 3 1608: popr #n<r .r!.r&.r5> : restore r2 throu?h r
00000000°EF 8; 22} 129? dogw ttoint : ::}: away the buffer interlock
rs F
448 169
&62 1692 .disable Lsb
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VAX-11 TECO
Terminal input

448 1694
448 1695
448 1 g
448 169
00F4'$F B 448 1 93
E ) 44C 169
7 0 44 1700
56 O7AQ'CF gs 4 1701
0809 4 17 §
00000000 8F D; o 17
1 45F 1704
FC 30 421 1705
OF 58 00' 51 466 17 ?
61 8F 51 1 0468 17
g9 1F  046C 1708
TA BF ; 91 695 1709
0 1A 04 171?
-] EO 8A 04764 1N
6A 1 9A 0477 171;
Q0EC'CF D& 047A 17
oc 58 00° 50 47 1714
7F BF 6A 1 8432 1715
06 13 488 1719
56 6A 9A 843 17
020; 30 488 1718
010 1 04BE 1719
0491 1720
6A 1A  9A 0491 1721
E4 OOEC'CF 03 F2 0494 17 g
20 AA 00000000'EF 3E 049%A 17
17 11 04A2 1724
AL 1725
50 04 A6 6g A9 0Q4AL 1726
7 12 Q46A9 1727
6A 01 AE 04AB 1728
77 gk Q4AE 1729
00F & 1 0480 1730
483 1731
20 AA  00000000'EF 3 04B3 17 i
0020'CF D& 04BB 17
05 O04BF 1734
4C0 1735
58 gO Eg 4C0 17 ?
6 B 4C3 17
5 gOEO'CF D0 04C5 17 s
05 58__ 00' ;1 4CA 17
51 0228°'CF E 04C 17‘?
4D3 174
4D 176§
4D3 174
4D3 1744
4D3 1745
4D 1749
4D3 174
4D3 1748
7E 7C 04D
51 DD 04D

M4

18-3EP-1984 %8

.sbttl Terminal input
.enable Lsb

108:

208:
308:

408$:
508:
60$:

708:

O 0o

1008:
1108:

1208:

tstw
bneq
clrl
moval

bbc
movaq
$qiow_s

w ter_1i_chan
gr-t-

-(r?)
w*input_sys_fab, ré

tbyt
g Zrnsi,nof
504

cioss_or abrt
#ioSv cvf%gu. r8, 208
¢ #*a7A/+

#*a/l/+32

{
1
0
1
g ,

1. i_r0(r10)
“ctrlz_cnt
“#io%v_noecho, r8, 40$
0 0(r10), #127

0(r10), ré

0

$
2
¢
&
r
$
r
tho_
90$
~a/l/=-64, i_r0(r10)

3, wetrlz_ont, 308
it, i_pcTr10)

4(r6), r0

s
s
r
4
r
2
¥
r
E
5
i
4
i
&
1
#a
#3,
tex
90%
(r6),
1308

M, i_r0(r10)
-(r?7)

200%

teco, i_pc(r10)
whter_i

r0, 1308

-(ré)

wter i_nor,trn_gtr r1
s*#io8y_timed, r8, 1208

witer_1i_any_trm, rl
chan=w*ter_i_chan, -
func=r8, -

iosb=(ré), -

pl=alr?), -

pg:s

p3=#0

E6=r1
LRQ -(SP)

PUSHL r1

n

16

IR TETE TR TA FRETETEA TR TATA A PR FE TR PA TR TR PR PR TR T

®e %o %o e

LI A T E TR TEATE TR TR TR A TR PR TR ¥

5 ECO.SRCITECONAT.MAR;3

have a real terminal?

yep

ensure the input buffer is empty
get the sys$input fab pointer
get the next byte

end-of=-file?

yep
else check for success completion
convert ng lower case?
yep, is it lower case?
not lower case
might be...
but it isn't
make lower case into upper case
copy character to here
and clear control/z counter
skip echo if not echoing
is the terminator a delete?
yep, delete's are echoed elsewhere
get the character to echo
and go fully echo it
go check out the input

set a control/2z

continue if not third control/z
set for exiting from teco

and go exit

any character(s) or terminator(s)?
yep, SO go use them...

return a =1 for no input

ensure the input buffer is empty
and go exit

set for rostarting teco
ensure the input buffer is empty
and exit

call a random success normal...
correct the iosb pointer
guess at the normal terminator mask
checking for type ahead?
use the anything terminator mask
do a terminal input read
using the terminal input channel
usin? the correct function
put 1/0 status here on completion
using the terminal input buffer
with the correct length
using an immediate timeout value
using correct terminator mask

285 ¥¢x55n§ H’cro v04-00 Page (gg)

7
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VES.OZ Terminal snput 18-SEP-1934 ?5:16:85 !TECO.SRCSYECONA?.HAR:S ’ (33)
2 DD 0Q4D7 PUSHL 08
DD 04D9 PUSHL r
00 9 F 04DB PUSHAL a(r7)
E C 04D CLRQ -(SP)
28 F Q4E PUSHAQ (ré6)
78 C O4E MOVZWL r8,-(SP)
7E  OOF&°CF C 04E MOVZWL w*ter_i_chan,=(SP)
00 DD OQ4EA PUSHL #0
00000000*'GF  OC FS 4E§ CALLS #12,G6*SysSsalow
FBE1 ; 4F3 1749 bsbw su coss,gr_abrt ; check for success completion
go 8 C kfg 1750 movzwl (ré)+, r ; get the completion code
0000°'8F ?} 4F 17g cmpw 5 #ss$_timeout ; & timed out operation?
A 4FE 17 beql $ : yes, go return a =1 to user
0000'8F SO 81 0500 175 cmpw rO, #ss$_controlc : was control/c typed?
89 1 58 1754 brneq  100s : none of the above...
OOFC'CF  OOFC'CF 9 507 1755 mcomb w*ctrlc_flag, w*ctrlc_flag ; flip the control/c flop
BA 1 8508 1759 beql 60$ ; it flopped, exit from teco
9F 6A 8F E1 0510 175 bbc #tecSv_etScc, i_r0(r10), 808 ; allowing return of control/c?
66 1 B0 0514 1758 movw £, (r8) ; set data count = 1
02 A6 D& 0517 1759 clrl 2(rb) : and no terminator(s)
00 87 03 gO S1A 1760 movb #*a/C/=-64, a(r?) ;s then buffer a control/c
77 86 § S1E 1761 1308: movawl (ré)+, =(r?7) ; set count of characters obtained
oc 1 85 1 176; beql 140% : none
OOEC'CF D& 0523 176 clrl wctrlz_cnt ; some, reset control/2 counter
04 58 00' EO 0527 1764 bbs s“#ioSv_noecho, r8, 1408 ; did they echo?
00'AB 02 A8 0528 1765 bisw  #2, b*outdne(ri1) ; echoed, so say so
50 02 A6 3§ 052F 1766 1408: movawl 2(ré), r0 ; get the terminator's Length
51 13 0533 1767 begl 180% : no length, so no terminator(s)
51 67 87 (1 8535 1768 addl3 (r7)¢, (r7), r1 ; else point just beyond the data
56 61 9A 5%9 1769 mov2 (r1), ré ; get the terminator itself
77 50 CO 0S3C 1770 addl r0, =(r7) : now count the terminator(s)
1A 56 91 O0S3F 171 cmpb r6, #*a/l/-64 : control/2?
09 1; 542 177; bneq 1508 : no
07 OOEC'CF 03 F S44 177 aoblss #3, w*ctrlz_cnt, 1608 ; continue if not third control/z
FF4D 31 gzs };;g brw 60§ ; else go exit from teco
O0EC'CF D& 054D 1779 1508: clrl u‘ctrli_cnt : no, reset control/z counter
0D Sg 91 8551 1777 1608: cmp ré, M ; carriage return?
13 12 0554 1773 bneq  170s : no
67 D6 0556 177 incl (r?) : yes, count 1 more in buffer
57 67 87 C1 0558 1780 addl3 (r?)¢, (r?), r?7 : tind position for Line feed
77 O0A 90 O055C 1781 movb M0, -(r?) ; and store it also
23 58 00 8 SSF 17 i bbs s*#{o$v_noecho, r8, 1808°; skip echo if not echoing
0155 563 17 bsbw o%ho_ uffer : yes, echo the carriage return
56 A A 0566 1784 movzbl #10.7ré : and set to echo a Line feed
19 58 gO' 50 569 1785 1708: bbs s‘liotg noecho, r8, 1808 ; skip echo if not echoin
7F 8F g } S?D 17 g cmpb ré, M27 : is the terminator a delete?
13 13 0571 17 beql  180s : yep, delete's are echoed elsewhere
011A 30 0573 1788 bsbw echo_char : else full¥ echo the terminator
576 1789 tec$input: ; terminal input
576 1790 bs s*#ioSv_canctrlo, ctlofg ; go g control/o cancel
00 00000000'EF 00*' E3 g;g 300055 bbcs s*#ioSv_canctrlo, ctlofg, 30005%
06 6A 01 ES 0576 1™ bbece #1, i_r0(r10), 1808 ; main prompt call?
OSC'CF 4 05 179§ clrl wctrlz_cn ;s yes, reset control/z counter
57 020°'CF ; 5 1793 1808: movaq w*ter_i, r ; get terminal input buffer desc
87 0O 5 1794 decl (r7)+ ; remove one character from buffer
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V§ Terminal input 18-85?-1834 ?gz °8 TECO.SRCIJTECONAT.MAR;3 ’ (33) Vg‘
19 D 1795 blss 230 : nothin left, go get some more
6A §; A F 1;89 movzbl a(rz)+ i_r0(r10) : el gt the gargcter
7 86 i 1 incl (r?) 3 and ump tho buffer pointer
50 6A i 1793 1908: movzbl 1_r0(r10), r0 : get charlctor about to be returned
FAGG' 3 97 179 bsbw 5 8ooxolbr ; and go check {t
8 1 9A 1 80 beql é : there was nothing there...
15 9C 1801 blbc 2208 ; there's some kind of error...
20 AA 0000 O 'EF E 9F 1 8§ movaw tecocr. ipc(r10) ; set to re-start TECO w/ <CR><LF>
O0FC'CF Og g:; } ? 2008: cl;b whctrlc_fTag : tura of:tcontrol/: exit flag if here
rs : and ex
SAC 1805
6A 1B 9A AC 1 9 2108: movzbl 087 i_r0(r10) ; set final initial command <ESC>
F6 N 53: } brb : and go exit with it...
010C*'CF 5 go 581 1 83 2208: movl r1 w'err ns?vec08 ; save any STV valu0
20 AA  00000000°'EF E 0586 1810 movaw oorrs ; set oxit to teco’ s orror processor
clr : wWith = or ename exists
10 AA 4 05BE 1811 tri i 0 for fil i
FB3A 1 ggl } }i brw succoss or err : nhow go dic with the error...
56 00°'AB 33 S5C4 1814 2308: movzwl b*indir(r11), ré ; is an indirect command file active?
0A 1 SC8 1815 beql 240% : nope
02 §6 D1 05CA 1 19 cmpl ré6, #2 : roall{?
& 1A 050D 1g1 bgtru 300 ; a real indirect command file...
00'AB B7 OSCF 1818 decw g‘indir(rlt) s "'funny''(1) or initial command(2)?
D8 18 Sp2 1819 bneq : initial command, it's now "funny"(1)
Fc1g 850& 12 0 2408: bsbw tecSwait_done_Lf : wait for terminal output to complete
0Cc? 0 0S5p7 1821 bsbw not ox iting not exiting if doing toruina L input
00EO'CF  0200°CF E OSDA 1 ; movaq w-ter nor? trm, w “ter * nor ;rn _ptr ; mask to 7-bit normal
07 00'AB__ OC ;1 8551 1 bbe ltoctv otsast b otxpe(r1T 2 is it an 8-bit terminal?
00EOQ'CF OOSB'CF E O5E6 1824 movaq W' “ter_T_nor trn ter_ nor trm ptr ; mask to 8-bit normal
67 0400°CF 9E 8550 1825 2508: movab we “ter_ t,”(r7) : “reset terminal input buffer pointer
56 0018'CF 7E SF; 18 g movaq wter_ 1 status. ré ; get pointer to terminal input iosb
3C OS5F7 1 movzwl #io$_readvblk! - : set function as read virtual,
SF8 1 g io$Sm_nofiltr! = : o filtering,
SF8 1 ioSm_trmnoecho! - : no terminator echo,
58 0000'8F SF8 1830 ioSm_dsablmbx, r8 keep an¥ mail box
S9 O1FF 8F 3C OSFC 1 §1 movzwl #ter i_siz=1, r9 : set terninal input buffer size
064 00'AB 02 EO 0601 13 ; bbs ftecSv_ otslc. b‘otypc(r11). 2608 ; allowing lower case?
606 183 bs s*#io$v_cvtlow, g : no, so don't
00 58 00' E3 ggg 00068 bbcs s*#ioSv_cvtlow, r 300068
06 6A 03 E1 060A 18;4 60%: bbe ftecSy ottnch i_r0(r10), 2708 ; echoing?
60E 1835 bs s*#io$v_noecho, g : no, so don't
00 58 00' E3 2 o bbcs s*#io$v_noecho, r8, 30007$
06 6A 05 E1 061 13;9 3983: bbc ltoct ottcke. i_r0(r10), 2808 ; checking type ahead?
616 1 bs s*#io$V_timed, rg yes, so do
00 58 00* E3 }A a bbcs  s*#ioSv-timed, r8. 300088
03 6A E9 A1 3888: blbc i_r0(r10), 2908 ; single charoctor input mode?
5% 1 g? 1 1 mov | ", r9 : yes, so buffer size is 1 character
FE2S } 2? 2908: brw 10§ : {ong branch for real terminal input
77 D4 1 6; 3008: clrl  =(r?) ; ensure the inp?q buffer is empty
57 0378'CF DE 06 184 moval w*indir_cmd 109 : address tho ‘e 8
58 50 A D 62A 1844 mov L fab$l_técsts(r7f, 3 sav’ orig nal " ro- etched'’ char/flag
62E 1845 bs #fabsv_tecnxt, ftbSl _tecsts(r?) ; guess at '‘pre-fetch'' working
el
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V§ Terminal snput IS-SEP- gg 95 8 EC .SRC 5 TECONAT.MAR;3 ’ g
50 A7 2 6 bisb s*#1afabSv_tecnxt, fabSl_tecsts(r7)
56 D 8 1 49 mov | §r8). r ; get ''ei'’ fab pointer
; ; 184 eql 1 : none?
06 2 1 48 sbw tb; ; get the next character
00000000 8F 0 D1 A 184 cmpl rms$_normal : normal conplction? :
0A 13 0641 1830 beql i JoPy € haracter pas "pre=fetched’
643 1851 3108: bc lfabtv tocnxt. fab$L_tecsts(r?) ; say nothing '‘pre-fetched"

50 A7 20 A 064 bicb ‘l1aflb _tecnxt, fa bSl_ ccsts (r?7)

071F 0 26 1 Si bsbw reset_indir ; close the indirect file

00'AB 38 4A 185 incw b*indTr(r11) ; then mark as 'funny”(1)
53 A7 $ 64D 1856 3208: movb r1, fab$l_tecsts+3(r?) ; save (possib pre-fetch'’ character
03 58 gs 0 62} 1 gS bbs laobtv tecnxt, r8, 3308 ; orig nall{ havo pre-fetched'' data?

FF2E 1 gs } 59 brw ; nope, go Loop to try again...
6A 58 08 18 P 653 1858 3308: extav 054 #8, r8, i_r0(r10) ; set the ''pre-fetched'' character
FF34 31 065D 1859 brw 190§ : and go check it out...
660 1860
0660 1861 .disable Lsb
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§ } §2 .sbttl Echoing, etc.
.entry tecSout_ascid, *m<rd,r3,ré,r5,r6,r7,r8,r9,r10,r11> ; output by desc
OFFC } 5 $ id, *m<r2,r3,r&,r5,r6,r7,r8,r9,r10,r11 by d
58 02900000'EF E 1 9 movaw rSset, r1] : (re=)point to teco's read/write area
04 gs D 1 8 movq 84 (ap§, r7 ; get string's descriptor
57 i 1 movzwl r7, r?7 ; and get real string Length
gg 13 0670 1870 beql zog ; null string, just do the <CR><LF>
56 9A 27 1871 108: movzbl (r8)+, ré : fetch next string character
10 1g 75 1 7; bsbb _ echo guffor : and output buffer it
F8 5 F 77 187 sobgtr r7, T0$ : then Loop for more...
8% 1 7A 1874 20§8: bsb o%ﬂo_arlf ; now go do the <CR><LF>
50 D 7C 1875 mov L M, r ; set the success return status
00FD "' CF ? 27F } ;9 gst? gagtrlo_flag ; is control/o in effect?
B ; nope
?8 D& 06 g 1878 clgl r : yog. change return status to failure
04 82 7 } 78 308: ret ; return
6 § 1 §1 echo_crlf: ; buffer and dump a <CR><LF>
56 0D 9A 06 1 g movzbl #13, ré ; set a <(R>
07 10 06 1 bsbb echo_buffer : and go output it
68D 1884 echo_Lf: : buffer and dump a <LF>
56 O0A 9A 068D 1885 movzbl #10, ré ; set a <LF>
698 1 ? echo_char: : buffer and dump a character
O7FO'CF 9F 0690 1 pushab w*echo_dump ; dump buffer after buffering
694 1888 echo_buffer: : buffer a echo character
25 56 07 0 069 1 39 bbs ", rg 208 : a "negative'’ character?
20 56 1 0698 1890 cmpb ré, #32 ; a control character?
SF 1E 0698 1891 bgequ echo_byte : nope
o0 5 91 069 189 cmpb ré l1§ : carria?e return or higher
5 1A 06A0 189 bgtru 40§ : it's higher
7 3 91 06A2 1894 cmpb ré, #7 ; bell or Lower?
55 1A 06A5 1895 bgtru echo_byte ; it's bs, tab, Lf, vt, ff, or cr
¢ 1F 06A7 1896 blssu 183 ; lower than bell
1 10 06A9 1897 bsbb echo_byte ; it's bell, ring the bell first
36 DD 06AB 1898 108:  pushl rb ; save character
56 SE 8F 9A 06AD 1899 movzbl #*a/*/, ré ; prefix with an ''*
49 18 68; 1900 bsbb echo_byte : go output the '
56 8E 00000040 gf C 683 1901 bisl3 #64, (sp)+, ré ; restore character making it visible
SR 228 }305 brb echo_byte : and go output it
51 SBS5D 8F g 68D 1984 20$: movawl #<*a/[/a8>+*a/)/, rl ; guess at hex digits trailing/leading
50 FFFFFFOO'EF&: i 6%5 }305 g{::l nv8bt-256Cré6l, r0 : :gst::xcg?;::: ?21 2‘;'%}" pair
28 00'AB C 0 Cg 19 ? bbs #tecSv_et$8bt, b‘ct¥po(r11). echo_byte ; 8-bit terminal?
51 C3E 8F C p1 1 3 movawl W#<*a/<7aB>+*a/>/, r ; set compose sequence trailing/leading
E 0 D 608 1909 30%: movq r0, -(sp) : save our special characters
56 05 AE 9A 0609 1N movzbl 5(sp), ré ; get the Leading signal
10 10 06bp 191 bsbb echo_ﬁyto : and go g tput it
56 6 GA DF 1N movzbl (sp), ré : get the first of the character pair
1 10 E2 N bsbb e Ro 9yto : and go output 15
56 6 07 O sf 6E4 1914 extzv 08 7, (sp), rb ; get the second pair (w/ <7> = 0)
1" 0 E9 1315 bsbb echo byte ; and go output it
56 04 A 9A EB 191 movzbl &(spY, ré : get the tra % ng signal
SE 8 g? EF 191 addf (]} sg : pop our special characters from stack
2;2 }3}8 brb echo_byte : go output trailing signal & exit
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bneq
cmpw

L
o O
" @&

gstu
e

bess
incw
bisw
clrw

N
o
«

movb
incw
decw
rsb

bsbw
brb

— e e e e e i e o D e e e o e e o e e e S el el el e
VOOVOVOOY VO OVOVO OOV OO0V O OOOVOOVO0

ENEBBBN NNE NA A ANA AN NONONONINONONNOND

VISR = OO0  ONO"WVMIS LN = O000 NS LI — O

~
o
L ]

movzbl

blssu
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E 15

27
18
#*a/8/, ré

isgptr. #ttobuf

Béofg. ttomod
5ag$n_canctrlo. ttomod
iagptr. #ttobuf+ttobfl
tsoint

tecSoutput

ttoint

ctlofg, ttomod
ctlofg

18-3p-1984 98:14:8

s*#latecSv eticco.

r6. attoptr :
ttoptr H
ttoint :
tecSwait 3

echo_byte :

LA TEATETE FETEPE PR PR TR PR TR PR TR TR TR T

AX/VMS Macro V04-00
TECO.SRCIT ONAT MAR;3
; escape?

nope, use .gp uparrow

use
§uff¢r a echo byte

the tcruinal output buffer empty?
yes, a luays o k. to buffer, etc.
nogc corre
it's total { corrcct
mode correct (control/o cancel)?
nope, must be roally changing modes
any roon to buffer charactcr?
room left, just go u ffer character
is output curren in progress?
yes, we must wait for it to finish
no, start it going...
interlock the terminal output buffer
.OR. any control/o cancel into mode

2 cloar out control/o cancel request
Ftecsy _et$cco b“ot;ge(r11 .
etype(ri®)

and say we did it

storo the character in the buffer
then bump the buffer pointer
and take away the buffer interlock

; exit

go wait for output to finish
then try, try again...

o g
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v§9.oz Process l?no/charactor deletion echoing 10-SEP-1984 ?5:16:85 !1ECO.SRC’TECONAT.HAR:3 oy, (25)

; } 27 .sbttl Process Line/character deletion echoing
; } 48 .enable Lsb
7 1 ? tecSdelln: : control/u handler
10 00'AB 01 EO 0769 1 i bbs #tecSv_etScrt, b etype(ri1), 408 ; scope mode?
56 D A 79? 1 108: movzbl s T : do tty compatible, set <cr>
FF20 0 07 1 g bsbw ogho_buffer : and output it
56 A A 0774 19 movzbl #10,7ré ; set <Lf>
FF16 1 ;;z }g ? 208: brw echo_char : go fully echo the character
18 AA._ 02 77A 1 308: subl #2, i_sp(r10) : 'push' the sp stack
18 BA 8 A8 3 7;5 1 8 movw i-pc(F{B), 31_38(r10) : gnd move rcgurn onto it
20 AA  00000000'EF E 07 1920 movaw prtlin, i_pc(r10) ; set Line re-print as the new exit
S7 0000000 'Es 18 ; g }361 408: g:ggul iagorl. r? 3 gotdorasg l}gc sequence base
: and go do
57 00000000'EF 38 79 1965 movawl ;rtcup. r7 ; get carsor ug sequence base
& 1 798 1964 bsbb 0% : and go do that also
&F W ;82 }825 brb 108 : now go do a <cr><Lf>
79F 1969 tecSdelch: ; delete handler
56 8A 9A 0Q79F 1968 movzbl 1i_r0(r10), ré : get the deleted character
DO 00'A 1 E1 07A 196 bbe #TecSy_et$crt, b etype(ri1), 208 ; scope mode?
5 01 DO 07A7 1970 movl M, r ; set count for 1 erase sequence
59 56 07 50 TAA 1971 bbs ", g 100% : @ "'negative’’ character?
20 Sg 1 07A 197; cmpb rg #3s : normal graphic?
2 1€ 0781 197 gequ 1 s ; yes, 1 sequence
18 6 91 0783 1974 cmpb r6, #27 ; escape?
60 13 0786 1975 beql 1%68 : yes, 1 sequence :
58 06 078 1979 incl r : no, set count for 2 sequences
o0 56 91 078A 197 cmpb ré, 73 ; is it carriage return or higher?
39 1A 0red 1978 bgtru 1208 : higher, do 2 sequences
g9 13 078F 197 beql 308 : it's carriage return, re-print line
07 6 91 07¢C1 1980 cmpb rg " ; is it bell or lower?
22 1? 7C4 1981 blequ 1 0s ; that it is, do 2 sequences
0A 6 9 7C$ 19 i cmpb r6, #10 ; check around line feed
AF  1F 07C9 19 blssu 30§ ; it's backspace or tab, re-print line
g9 13 07¢B 1984 beql 60$ ; it's line feed, do 1 cursor up
0cC 91 07¢D 1985 cmpb r8 "2 : check around form feed
0 1F 0700 19 ? blssu g $ ; it's vertical tab, do 2 cursor ups
8 18 72 19 bsbb 0$ s do % cursor ups, fall to do 2 more
0 1 04 19 3 508: bsbb 60% : do 1 cursor up, fall to do another
57 02900088'5? 38 706 19 9 $: movzwl crtcup, r7 ; get cursor up sequence base
'A9 A 70? 139? $: addw ?‘srtyp’(r11). r7 : tind correct sequence pointer
7 3c 7€1 1 movaul (r?), r : and get pointer to count, string
8 7 A 7E§ 199; movzbl (r7)¢, r8 ; pickup the count, correct pointer
6 4 gA TE7 1993 80s: mov2 (r?)+, rb : get a character
FFOF 2 7EA 1994 bsbw osho 8 te : “and output it
F7 58 F 7ED 1995 sobgtr r8, B l : then loop for more...
7F 1999 echo_dump: : ?uup the buffered echoing
00000000'5! ? 7F 189 gstu toint : 1s terminal output buffer free?
E 7F6 1 38 bgeq 0s : nope, go exit
0000"' 8F 00000000'8? 7F8 1 CRpW stgptr. #ttobuf 3 yeg anything buffered therein?
3 ? beql 0 : NO ﬁin? there, go exit
FB6B8 bsbw tecSoutput ; else start that output going
9 i 90$: rsb . exit
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FFFFFFOO‘EFA? ? 7 & 1008: tstw nsebt-256[r6] hgch the ﬁonvcrsi?n tablo entry
S blss 1 ;x digits (<
03 OO'Ag C E 9 bbs ltocQX et$8bt, b‘etypo(r11) 20 B-bit torninal?
S 4 g 1 8 mov L : we nust do 4 erase sequences
FA2S 1 bsbw tecSwait : wait for ?ll output to bo queued
18 $qiow_s = ; queue an /o request with wait
18 ? chan = w*ter _o_chan, = :_on the termi no write channel
18 1 func = s‘lio! _writevblk, = ; with a write function code
18 12 iosb = w*ter_0_pos : SO we can get horizontal position
N N 18 CLRQ -(SPY
7 7C 10 CLRQ -(SP)
])) F PUSHL [ ]
9D PUSHL #
E C CLRQ -(SP)
9010 SF F PUSHAQ ’
0' 3¢C MOVZWL o$ writevblk -(SP)
o wés DS g ggg'z‘tt u “ter_o_chan,=(SP)
00000000 GF C FB 3 CALLS 012 G*Syssalow
016°'CF  9A A 2013 movzbl w*ter_o_ pos#6. r0 ; extract the 1 based position
1A 13 3F 2014 eql 1308 ; @ 2ero, no position, skip it
58 Sg D1 41 15 cmpl rg r8 ; are we looking at a Line wrap?
15 14 0844 19 bgtr  130s : nope
57 O00000000'EF 3C 0846 1 movzwl crterl, r7 : get erase line sequence base
1€ 10 8 4D 013 bsbb 1608 ; and go to do it
57 00000000°'EF 38 4F 81 movzwl c¢rtcup, r?7 ; get cursor up sequence base
13 1 Ss 0 bsbb 160% : and go to do that also
FFIF 31 gga 8 1 brw 30% : now go really do it...
02 58 D1 S8 ; 1308 cmpl r8, #2 ; how many sequences do we need?
83 1 5 & lss 1508 i1
1 6 5 beql 140% : &
88 1 6 9 bsbb 140% ; we need 4 sequences
1 6 1483: bsbb 150% ; we need 2 sequences
57 00000000 E gc 366 g 1508: movawl srtorc. r7 ; get erase character sequence base
1 0890 4 1608: brw 0$ ; go do the sequence, then exit
0878 8 1 .disable Lsb
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5C 26 7F
D
01AD 0 9
56 S 0 9A
1M1 504A6 0 E ZD
A
54 B6 DF
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50 A6 04 88 F
50 10 AA AE ;
51 8 70
53 S8A6 7
53 31 ?
08 C
51 04 Al 09 C
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F & c9
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D
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18-5 P-
10-SEP-
3 .sbttl Page backwards
.enable Lsb

108: NFI,

rr

err <'"'No file for input'®

bsbw
.long
.uor?
.ascic “No file for input"

err NFO, <
bsbw err
.long $535%8$%
.word $3$553%$
.ascic "No file for output"’

040
041 tecSbakup: :
06; movzwl b*inpntr(ril), ré :
04 movl (ré), ré :
044 beql 108 :
845 pushl ré :
6; movzwl b*oupntr(ril), ré :
86 movL (ré), ré :
48 beql 20$ :
849 pushaq at«h8q_tecque+é(ré) :
S0 ushl ré :
051 sbw tocSputof :
05§ movl (sp)+, ré
S bbs #fabsv tecbuf fabsi_ tocst
S& $rewind - :
55 rab=afabsl tocrab(ro) :
PUSHAL @fab$l tecrab(ré)
CALLS #$S.TMP1 G‘SVSSREHIND
Ss bsbw success _or_err :
5 s lfob v focBuf fobSl _tecst
bisb 1‘! 5cbu . fa bSl_
Ss 308: mnegw _r&( ;
S movq (sg)+ 1 ;
60 movaq fab$q_tecque(ré), r3 :
1 40$: cmpl rl, r3 3
i beql 50§ :
movl &(r1), :
4 decw r 3
65 bgtr 40% 3
69 585: ono?u r0, i_r4(r10) :
60$: cmp ;1 fabsq_tecque+4(ré) :
3 beql o :
remque afabtq togouo*‘(ro). r0 ;
? insque (r0) toc?uo ré ) H
7 bs lfo? v_tecbu tecst
bisb z‘l fabsv_ tocbuf absi_t
r :
; brb 0%

o8t i1

; have we backed
: ytp. must exit t
)
: should uo look at it?
: yes, so loop...

; return onx remaining count
: have we fin

v04-00

S VAX/VMS Macro P
85 !TECO.SRC’ TECONAT.MAR:3 b

<"'No file for output'®

page backwards
get pointer to input file pointer
then get input file fab pointer
no file...
save input file fab pointor
get pointer to output file pointer
th:?lgot output file fab pointer
no e...
save current last buffer pointer
save output fi fab pointer
nou go dump the toxt uffer
ack output file fab pointer

s(ro) 308 ; already into buffering?
rewind the output file

SO we can re-write it later

heck for success completion
s(r ) ; indicate data is buffered
tecsts(ré)
get number of oogoz to back u
get start pointer 1nput fob pointor
address the output queue's root

to the tof

e loop early
Link backwards to the next

ished pruning?
33
go. ronovo a3 buffer from output tail
g odd it to input gueue beginning
s t) soy using buffered data now
ocs s(re

Loop for the next buffer...

36
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05 §§ES §§7§ 708: rsb
E4 4
E4 76 .disable Lsb

115
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18:14:83

; exit

AX/VMS Macro V04-00
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v§3.02 Get input 18-SEP-1934 95:16:82 !TECO.SRC’TECONAT.HAR:! . (37)
Ez ; .sbttl Get input
E: § .enable Lsb
Eé 2 108: err NFI, <''No file for input'®
FSSS ;0 Eé bsbw grr
0 Ogg A' ;7 .long $$3$%$%
72 6F 66 20 65 6C 69 6F 4F 00" 037¢ 3scte Mo file for input”
.ascic "'No e for inpu
%2 38 90 SF ¢ gg ;§ .
EB 3
50 A6 D6 gEB 8 4 208: incl fab$l_tecsts(ré) ; set internal end-of-file indicator
EE 2085 .assume fab$m_teceof eq 1
EE 8 9 $close - ; close
EE faz=(r6) : the file
66 DF O0BE PUSHAL (r6)
00000000°'GF 01 F gF CALLS #8S.TMP1,G*SYSSCLOSE
010C*'CF  0C_A6 g F Ogl movl fabSl_stv(ré), werr_msgvec+8 ; save the STV value
F7FE 08FD 2089 bsbw success_or_err : check for success completion
00'AB 00 B; 8980 090 308: mcomw #0, b*eoflag(ril) ; set end-of-file flag
0 302 831 rsb ; and exit
03 50 A6 09 ;1 8905 09§ 40$: bbc #fabSv_tecb2, fab$l_tecsts(ré), 508 ; /b2 mode?
0078 0 090A 2094 bsbw 1508 ; yes, go do trailing trims
00'AB 00 B; 8900 095 508: mcomw #0, b*ffflag(rll) ; set form feed flag
0 0311 089 rsb ; and exit
091 898 tecSgetbf: ; get input
00'AB B& OMN 099 clrw b*eoflag(r1l) ; preset not at end-of-file
00'AB gk 91 100 clrw boffflag(rll) : preset no form feed at buffer's end
56 00'AB C 0918 181 movzwl Db*inpntr(ri1l), ré ; get pointer to input file pointer
56 63 Dg 91C 21 i movl (rd), rb ; then get input file fab pointer
C 1 91F 18 beql 108 ; no file
57 6A D 921 2104 mov | i_r0(r10), r?7 ; get buffer pointer
S8 04 AA D 924 2105 mov i_r1(r10), r8 ; and room counter
26 1 928 21 9 beql 1508 : no room at all, we'd better exit...
8 D7 092A 21 ?83: decl r ; count down the room counter
04 S0 A6 02 Eg 92C 2108 70$: bbs #fabSv_tecbuf, fab$L tecsts(ré), 808 ; never eof if buffering
(B S0 A6 E 931 2109 blbs fab$l _Ttecsts(ré), 303 ; keep saying end-of-file if true
9 110 8ssuuo fab$m_teceof eq 1
03;9 30 09 g 111 80S: bsbw getbyt ; get the next character
00000000 8F 0 D1 0938 11; cmpl rg rms$_eof ; end-of-file?
AR }8 93F 211 beql 20§ : yep, S0 quit
F7BA 941 2114 bsbw success_or Srr ; else chegk for_success completion
05 50 A6 9 1 0944 2115 bbc #fabSy_tecb2, fabSl_tecsts(ré), 908 ; /b2 mode?
0 51 91 09 318 capb 1, #13 :%a <cra?
gi 13 094C 211 beql 708 3 ¥op 1gnorc the <cr> (for now...)
0c 91 094 113 908$: cmpb r1, #12 ; it is <fH?
? 1 95 1 beql 4?‘ : yep, we're done
87 92 1 ? movb rl, (r7)¢ ; nope, store in the text buffer
OO'A? g? 9 s 1 incw b*2z2(r11) ; and count it as stored
OA § 9 1 i cmpb rl, M0 : <Lf?
19 1? 95C 21 bneq 110$ ; nope
0E 50 A6 ?9 s 9 124 bbc #fabSv_tecb2, fab$l_tecsts(r6), 1008 ; /b2 mode?
C 8 92 125 bsbb 1 §$ : yes, go do trai ina trims
87 OAOD 8F B 9 126 movw #13+<10a8>, (r?7)+ ; store closing <cr><Lf>
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OO'AS A A 2127 addw #2, b*z2z2(r11) ; and count the added <cr><Lf>
5 C 1 subl e, r ; then decrease the free space
08 AA ? 129 1008: cmpl r8, i_r2(r10) : how's room doing?
9 7 1 blss 1208 ; out of room, we must quit
00000080 8F ?1 ; 131 110s: clgl r8, #128 : down to vor; small??
BA g 1 bgtr 60§ : nope, loop for more...
0 3 } 1208: rsb ; exit
57 07 09 1 1 ; 138!: decl r7 ; backup the buffer pointer
00°* 87 09 1 9 1408: ecw b*2z2(r11) ; remove a character
D6 09 g 1 ncl rg : and increase the free space
6A p1 09 1 s 1508: cmpl r?7, i_r0(r10) ; backed up too far?
F 18 0988 ¢1 blequ 166;  yep, e must stop
26 7 9 9 140 cmpb -(r?7), #*a/k/ : railing "7
g 'y 9 141 beql 1498 ; yes, remove it
20 67 91 099 16§ cmpb (r?7), #32 . tra*ling space?
SC 13 099 14 beql 1495 : yes, remove it also
09 87 9} 997 2144 cmpb  (r7)+, #9 ; trailing <tab>?
3 1 99A 2145 beql 130% ; yes, that gets removed too
05 099C 2146 1608: rsb : exit
0990 2147
099D 2148 .disable Lsb




Egg?gST VAX=11 TECO i }8-SEP-1384 ?§:11:8g AX/VMS Macro V04-00 Page (gg)

Put output -SEP=-1984 13:16: TECO.SRCITECONAT.MAR;3
ggg } 3 .sbttl Put output
99D 2152 dump_data: ; dump buffered data
03FC 0990 21 .word  “*m<r2,r3,.r&,r5,.r6,r7,r8,r9> ’
7E _SB A6 7D 9F 2154 movq fabtq-tacquc(r&). -=(sp) ; replicate the agoue root
S0 6E 7D A3 2155 movq sp), r : addr’ss head (RO) and tail (R1)
06 AO 6E 7E 09A6 21 ? movaq (sp), 4(r0) ; re=link head's back ptr to our copy
61 62 TE 09AA 21 movaq (sg), (r1) : re-link tail's forw ptr to our copy
58 Ab g A TE 09A 1 3 movaq fab$q_tecque(ré), fab$q_tecque(ré) : reset the real
5C A8 A6 T7E 098 1 movaq fags tecque(ré), fab$q_tecque+4(ré) ; queue root
S F8 BD ?F 98 160 108: remque g- (fp), r0 ; remove next item from the queue
18 D 0988 12 bvs $ : nothing more...
5 oD 098D 21 pushl r ; else save pointer to removed hunk
53 10A0 D 98F 216 movl g+4¢4(r0). r3 ; address the data
5¢ O0CA0 0D 9c; 164 movl +4(r0), ré : and get its count
59 & 09C 165 clrl r ; don't add any <ff>
0086 0 09C9 169 bsbw put_buffer ; now go Eut it out
50 88 DO 09CC 216 movl (spf+‘ r0 ; get back pointer to removed hunk
OD9F'CF O FB 09CF 163 calls #0, w*free_data : and free it up
SR L 0332 }?o brb 10§ : then Loop for the next...
04 §3g$ };1 208: ret : return
907 175 save_data: ; save the put buffer data
003C 0907 2174 .word  “*m<r2,r3,ré,.r5
N It 8909 175 clrq -(sp ; make room for LIBSGET_VM args
63 54 98 ?A 38? };9 108: koct l&%. ré, (r3) : is there an embedded 2ff>?
e ; nope
2 56 30 (3 001 5178 SUBLS 00, ré, £2 } Yep: tind this unk's sie
5 D6 09ES5S 2179 incl reé 3 including the <ff>
; 10 09E7 2180 bsbb 60% : go allocate and load a buffer
53 CO0 09E9 2181 addl rg. r3 ; bump pointer over this hunk
5¢ 5 C 9EC 21 ; subl r2, r& : and skip it in the count
;A 1 9EF 21 bneq 10§ : loop if there's more to look at...
9 D 9F1 2184 20s: tstl r9 : a trailing <ff> to add?
02 1 9F3 2185 beql 308 ; nope
5 D 9F; 18? incl ré& : yep, so count it in the count
52 54 D 9F 187 308: movl ré, r2 : now use the remaining count
88 1 9FA 21 s beql 40§ : nothing remaining...
R 9FC 21 bsbb 60$ : go allocate and load the buffer
59 O 9F 190 tstl r9 ; are we adding a <ff>?
S 3 A 191 beql 408 : nope
13 A145 c 9 A 19§ movb #12, 8+4+8-1(r1)(r2] : yep, load in the <ff>
5 1 8 A 19 488: movl M, r ; set success
: & }32 508: ret : exit
FBAD 52 14 C1 QA 199 60$: addl3  #8+4+8, r2, -8(fp) ; set hunk size w/ overhead included
FC AD DF O0A1 19 pushal =4(fp) ; stack address of (returned) address
F8 AD DF O0A1 193 pushal -8(fp) ;s stack address of size
00000000 GF Fg Al16 21 calls #2, g‘lib&gct_vn : go allocate virtual memory
EA E Al 0 blbe r 0% ; exit 1f any error...
51 FCAD DO OA 1 mov | -4(fp). r : address the allocated new memory
3F A 5 ushr  #n<r0,r1,r2,r3,r4,r5> ; save the MOVC clobbered registers
5C 86 61 A26 nsque (rl), 5f36$? tocquo+4(r6$ : insert new hunk onto queue's tail
08 A1 F8AD DO O0A2A 4 movl -gu ), 8(r1Y ; load total size of hunk into hunk
OC A1 S g A2F S movl r Etl(rl) : Load data size of hunk into hunk
10 A1 14 A E OA33 6 movab 8+4+B(r1), B+4+4(r1) ; load data address of hunk into hunk
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vES§%82 Put output 18-3EP-1980 98:14:82 VAX(SMSaRasEo Na4-00:. 5 ge 8%,

14 A1 63 §2 28 O0QA38 7 mov¢ r2, (r3), B+4+8(r1) ; load data itself into hunk
F SA A3D 3 popr #*n<r0,rf,r2,r3,r4,r5 ; restore the MOVC clobbered registers
5 :‘F ' rs : exit
:2 }2 .enable Lsb
A4 15 108: err NFO, <'No file for output'®
FTOS 0 0A4 bsbw re
00 Oga E' QA& .long $$$8$$
F gs .word $$55$$ g
72 6F 66 20 65 6C 69 66 ;0 9F 4E 00' .ascic "No file for output’
74 75 70 74 75 6F 9
Az 14
A&7 15 tecSputbf: ; put output
S3  6A DO QA&7 19 movl i_r0(r10), r3 ; get text buffer pointer
56 04 AA DO 0A4A 1 movl i_r1(r10), ré : and character count
59 08 AA DO QA4 13 movl i_r2(r10), r9 : put emit <ff> flag here g
AS 19 put_buffer: : internal put output
56 O00'AB 3C O0AS 0 movzwl b*oupntr(rll), ré : get pointer to output file pointer
56 Dg AS 1 movl (ré), ré : then get output file fab pointer
1 AS i beql 10$ : no file
57 S& A6 DO 0ASB mov | fab$l_tecrab(ré), r?7 : file, get the rab pointer
FF?73 CF 00 Fs ASF i calls #0, save_data ; go save the put buffer data
F697 3 Ab4 b bsbw success_or_err : check for success completion
01 S0 A6 02 81 0A67 9 bbc #tabSv_tecbuf, fab$l_tecsts(ré), 208 ; proceed if not buffering
5 :gg rsb ; else exit...
51 53 D0 0A6D g 208: movl r3, rl ; save starting position
5¢ D& O0A g 0 clrl ré ; and reset count
54 D7 O0A7 1 308: decl ré ; more to look at?
7E 19 0A74 g blss 1308 : nope
5 D6 O0A7 incl ré : yep, count another character
oc 8 91 QA7 4 cmpb (r3)+, M2 : <ft> or higher?
FS 1A 0A78B 5 bgtru 308 : higher, keep looking...
OA FF A3 91 0A7D 6 cmpb -1(r3), M0 : <LT> or Lower?
EF 1F 0A81 7 blssu 30% : lower, keep looking...
67 1 AB3 g bneq 1108 : higher, it's <vt> or <ff>, do record
1E A6 03 93 0A85 223 bitb  #fabSm_cr!fabSm_ftn, fab$b_rat(rd) ; Lf/cr and/or ftn cc?
8 A89 40 beql 110% : no, so no additions, etc., do record
01 2 D1 O0A 41 cmpl re, M : anything before the <Lf>?
5 15 OA 4; bleq 110s : nope, go do a record
0D FE A 91 0A9 o cmpb -%(r!). ns3 : yep, it it a <cr>?
1 A G4 bneq 1108 : no, d? a record also
02 3 ?S :98 25 grpl z§‘ 2 : anything before the <cr><lLf>?
& : nope
18 FD Ag 9 A98 49 cnpg -35(r3), #27 : ¥.3 is it <esc><cr><Lf>»?
4 1 A9F &s beql 1108 : it is, don't remove <cr><lf>, etc.
52 C AA1 49 40$: subl #2, re ; take away the <cr><Lf>
43 50 A6 E AAS 5 bbc #fabSv_tecb2, fab$l_tecsts(ré), 1108 ; /b2 mode?
?§ AA9 tstl r : anytﬁing in the record?
AAB beql 508 : nope
26 FD A 9 AAD cmpb -3(r3), #*a/b/ : {cp. is it <@><cr><L>?
1 AB1 & beql 1108 : that it is, go output as is
I L | Rope. Buf “theck.for <t1> coning
eq : nope, but che 0
30 63 91 0OAB 9 cmpb (rg). #*a/0/ ; is next a digit?
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1F  QABA blssu 60 ; non=-digit, add '%'' to record
39 g 91 0ABC gg cmpb (r3), #*a/9/ : roallyga digit?
g 1 ABF 2? blequ 11 g ; yes, a digi next, go do the record
72 B AC1 60$: movw -(r3), -(sg) : save the <cr><lf> from text buffer
63 8 09 gF B ACé 65 movw l9+<"/l/a >, (r3) ; guess at adding <tab><g&> to record
7 2 D1 O0ACY 6 cmp rs # ; already across the first tab stop?
gb 14 0ACC 24 bgtr 80§ : yep, change shat to <space>
gg 1 D? ACE S mov | 1, g : else copy pointer to record
5 D AD 6; 708: cmpl S, ¢ ; are we up to record's end?
Og 1€ 0AD4 226 bgequ 90§ : yes, no <tab> in record
09 8 91 O0AD 63 cmpb (rS)+, #9 : 1s this a <tab>?
FS 1 AD 9 bneq 7 2 : not a <tab>, keep looking
3 9 ADB 0 883: movb #32, (r3) ; change to adding <space><i>
2 i AD 71 90s: addl #2, r ; we added 2 characters to record
D 1 AE 7§ bsbb 150s : go put the new record
83 E B? AE3 7 movw (38)0. (r3)+ ; restore <cr><Lf> into text buffer
06 1 :Eg ;g brb 120% : and go check for normal completion
59 D5 OAE 79 1008: tstl r9 : a <ff> coming?
DS 18 AEA 7 bneq 60% : yes, go add "¢'' to record
22 10 OAEC 73 1108: bsbb 1508 : go put that record
F60D go AEE 79 1208: bsbw succoss-or_err : check for success completion
FF79 1 2;1 g? brw 0$ : then loop...
59 D5 OAFé gi 1308: tstl r9 ; add a <ff>»?
12 13 OAF beql 16%8 : nope
75 6 90 OAF 84 movb (r3), =(sp) : yeg. save the next byte
6 05 90 OAFB 85 movb #12, (rd) ; then make it a <ff>
5 D6 OAF 89 incl rg : and count that <ff>
OE 10 08O g bsbb 1508 ; go put the final record
63 B8t 90 0 s movb (sp)+, (r3) ; restore the next byte )
F5F6 31 088 30 brw success_or_err : check for success completion & exit
52 Dg g 91 1408: tstl r; ; any size?
24 1 A 9§ beql 1708 : nope
FSEE CF 9F 0BOC 9 pushab w*success_or_err : check for success completion on exit
28 A7 51 O 10 94 1508: movl r1, rabsSL_rb¥(r7) : set starting address of record
22 A7 Ss 80 14 95 movw rg. rabSw_rsz(r?7) : and record's size
5 D& 18 99 clrl r : clear our ‘‘over quota'' flag
1A 97 1608: Sput - : put a record
1A 98 rab=(r?7) : to the file
67 DF 1A PUSHAL (r?7)
00000000°'GF 01 FB O0B1 CALLS  #$S.TMP1,G*SYSSPUT
010C"*CF 8( A7 D 99 movl rab$l 8:v(r7). wherr_msgvec+8 ; save the STV value
& 50 E 0 blbs r0, 1708 : all done if no error
01 58 00 S 1 bbcs #0, r8, 1808 ; really an error if second time
S i 1708: rsb ; exit
00000000°8F OC A7 D1 1 4 1808: cmpl r,BSl-stv(r?). #ss$_exdiskquota ; is it the quota error?
FS 12 9 5 bneq 1708 : nope, a real true error
:] 6 bs s“#ioSv_canctrlo, ctlofg ;_do a control/o cancel
00 00000000'EF 00" E3 Z 300148 bbcs s*“#ioSv_canctrlo, ctlofg, 30014$
0323 TF 4 7 pushaq w*quota_msg_desc ; set the quota exceeded message
FB14 CF 01 FB 4 s calls #1, w*tecSout_ascid : and go output it
cc 1 g:g 09 brb 160s ; now go try, try again...
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VAX=11 TECO
Put output

0B4E 2311

.disable Lsb

B 16

16-38P-198% 8:1 TECo SREIFECONAT MAR: 3




TECONAT
v359.02

51  FEFFFFAQ 8F
0E 51 06

00 51 07

08

51 0o

03

51 0A

60 A6 8E

10 1€ A6 02
00000000 8F ?2
06 50 A6 03
0D 64 A6

09

DD
50 00000000'3;

00000000 GF
010C ' CF
00000000° &F

o
L)

66

VAX=11 TECO

Get an input byte

OCUO == OM-uOM OOUY
VIVIOON =ON == VIOP
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€ 16

}3 .sbttl Get an input byte

A

}S .enable Lsb

1? getbyt_emit_ctl: 3
18 bicl #*c<<186>!31>, ri :
19 bbcc #6, r1, 108 ;
20 bs #7, :

bbcs #7, r1, 300158
30015%:

1 brb 108 :

5 getbyt_emit_cr:

4 movzbl #13, r1

5 brb 108 :

? getbyt_emit_Lf: :

8 movzbl #10, r1 :

9 108: movl  (sp)+, fabSl_tecdsp(ré) :

? rsb :
gg 208: bbc #fabSv_prn, fab$b_rat(ré),

cmpl rQ, #rms$_eof 3
34 bneq 40§ :
35 bbs #fabSv_tecicr, fab$l_tecst
39 cmpb fab$l_tecctl(rée), M3 ;
3 bneq 40% :
58 308: bsbb etblt_enit_lf :
39 mov | rms$_eof, r0 3
40 40S$: tstl (sp)+ :
41 rsb 3
i
43 getbyt_first: :
44 movab b“*getbyt_first, fab$l_tecd
45 movl fab$lL_ ecrab(ré), r5 3
46 $get - :
47 rab=(r5) :
PUSHAL S)

(r
CALLS  #$S_.TMP1,G*SYSSGET
movl rab$l_stv(r5), w*err_msgve

bsbb ga;byt_olit_lf

4

gg gnpl 5 #rms$_normal 3
ne

S? bbcq #fabSv_prn, fabsb_rat(ré),

g; movw ?rattl rhb(rS), fab$l tecc
cvtbl ab$l_Tecctl+2(ré), rT ;

3 biss 708 f

s; bbss  #fab$v tocno1§t. fab$l_tec

g 50$: gt:: {aggl_focctl0 (ré) }

ég 60$: bsbb getbyt_emit_cr

64

$: bsbw aotbzt,cnit_ctl :
: bs fabSv_tecnolist, fab$l_tec
bisb s*#1afabSv_tecnolst, fab$l

18-3Ep-108¢ 18:14;

emit a control character

trim to 8-bit flag & control ahar
use 7-bit set control if <é>=
else use 8-bit set cortrol

and go emit it

; emit a <cr>
; set the <cr>

then go emit it

emit a <Lf>

set the <lLf>

s'stth' next dispatch address
ex

408 ; br if not print file format
end-of=-file?

nope, other error

s(ré), 308 : just ignored a <cr>?
was last character a <cr>?

not a <cr>, nothing more needed...

ignored or lLast <cr>, go emit a <Lf>

now restore the end-of-file code
pop the return exit
and exit with error code

initial dispatch entry point
sp(ré) ; set new record dispatch
get the rab pointer
get

the next record

c+8 ; save the STV value
normal completion?

: noso. exit with error code
90$ ;

rint file format?
tL+2(r6) ; copy vfc bytes
get the ‘'prefix' byte
none

3 congrol

sts(ré), 608 ; first time?
another 'prefix' <cr><lf> to do?
nope, go do the real data

yep, emit a <cr>

emit a <Lf>

now loop...

emit a control character
sts(ré) ; not first time anymore
tecsts(ré)

S VAX/VMS Macro V04=00 P 9 |
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VAX=11 TECO

Get an input byte

n
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brb

—_
oo
"o

rsb
1208:

bbs

movzbl
cmpb
beql
cmpb
bgtru
gnpb
gequ
bsbw
bsbw
decb

bgtr
b?u

1308:

1408:
1508:

.disable Lsb

.enable Lsb
108:

br

clrd
bitb
beql
inch
tstw
beql
movab
movl
decw
blss
movzbl
incl

cvtbl
beql
blss

bsbw
brb

mov |
movzbl
incl
decl
bneq
remque
bneq
bc
bich
calls

D 16

18-3€p-198¢ 14:14:83

100%

fab$l_tecctl+3(ré)
l&a%ia_cr!fab&m_

i
fab$l _tecctl+3(ré)

e

1108, fab$l_tecds

ab$(_tecra

rabs$w_rsa(

r

(rS)

ggrb). r

1
arabsl_rbf(rsS), r1
rabsL_rbf(r5)

$
3
: v_prn
$L Tecc
27
"2

#10

b
0
0
ab$
)
0

5
0s

fa
14
15
'L
fa
r1
14
rl
"
r

1408

s

L

fab$b_
(ré),

etbyt emit _cr
Sothy “emit_Lf

130s

getbyt_first
?etbyt_enit_ctl
40%

g ab$q_tecque(ré), r0
#fabsSv_tecbuf, fabSl_tccit

etbyt
bSl_EecctT+3(ré)

s*“#1afabSv_tecbuf,
lg w*free_data
60§

fab$l_tecctl+1(ré)

90%

L_tecctl+3(ré), ri

3 §ontrol
rat(ré), 1308 ; print file format?
get lLast record data byte
it escape?

r1

g(rb)

ftn, fabdb.

.
.
L
v

e - .

AR TR TR T TR T

; set di

neither

one or the other, do cr/lLf at end
a null record?

yep, no need to process it...
spatch for record data

AX/VMS Macro V04-00
TECO.SRCIJTECONAT.MAR;3

then continue

uess at no carriage control
rat(ré) ; implied Lf/cr or ftn ccl?

get the rab pointer
more in the record?

nope

yep, $o get a byte

and bump the record pointer

then exit

; get the 'postfix' byte

L

AR E TR TR TR PR TR PR TR P T

. hone

it was, no additions
was it <ff> or higher?

higher,
wWas

emit a <cr>
emit a <Lf>

another ‘postfix' <Lf> to do?
so do another
now is the time for a new record...

yep,

o add a <cr><Lf>
it <lf>, <vt>, or <ff>»?
one of the above, no additions

emit a control character

then go to the next record

get queued data buffer pointer
et character

from buffer

ump the buffer pointer
count down the count
more remains, go exit

no more, remove buffer from queue
another buffer remains in the queue
s(ré) ; else turn off buffering

fab$l_tecsts(ré)
: go free ugttho buffer

: NOW go ex

; have <cr>, already at left margin?

we need this <cr>

#1afabsv_tecicr, fab$l_tecsts(r
; get an input byte

: no
l!abSv_tocicr. fab$l tocsts(ng :61'9' say <cr> ignored...
5

T e —————— —————————. ———
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v§9.02 Get an input byte 18-SEP-1936 ?5:16:85 f ECO.SRC’gECONAt.HAR:S ’ (29)
g1 28 Ag 82 E C61 2420 bbs #fabSv_tecbuf, fab$l_tecsts(ré) ) 183 ; is there buffered data?
8 A ? C66 2421 bsc #fabSy_tececr, fab$Sl_tecsts(ré), 808 ; do <Lf> if extra <cr>
60 88 6 0C6B 24 i sb afab; ,tncdsp(r ) . o;a; di spatch to proper routine
16 1E A6 E1 C? 4 be #tabSv_prn, fab$b_rat(ré), ; br if not print file format
C 426 be lfabtv,ttc‘cr. aESl_tgcsts(ré) 3 undo <cr> ignored flag
50 A6 ga gA c7 bich s‘l1afgb8v tecicr, fab$l_tecsts(ré)
0D 1 1 0C?7 425 cmpb ri, M ; <cr> or greater?
09 1A O0C7A 24 ? bgtru 408 : ?roator. normal l no left margin
gA 13 0C7C 24 beql 30% : 1t's <cr>, so left nar?
0A 1 91 0C7 4 3 cmpb rl, M0 i is it <Lf>, <vt>, or <Tf>?
8 1A 0OC 4 bgtru ;0‘ : it's <vt> or <ff>
1 18 C 4 ? beql 0s : it's <Lf>, check for nooding <er>
65 A6 21 9 C 431 408: movb #1, fabSl_tecctl+1(ré) ; set non=zero for not at Lef margin
64 A6 1 90 0C89 24 g 50$: movb r1, fab$lL tecctl(ré) : remember lLast character returned
SO 00000000'8F DO OCBD 2433 60%: movl #rms$_normal, r0 : s.t normal completion
05 qu 2 g rsb ; and exit
64 A6 SE ?% 8%33 2 9 708: cmpw ga‘ fab$l_tecctl(ré) s 2 <Lf>'s at Left margin?
ne : no @
51 D 9A 0098 2438 novgbl M3, r p set the nissing <&r>
EA S0 A6 04 53 oc9§ 439 bbcs lfabtv tececr, fab$sl tecsts(ré) 60% ; emit t e extra <cr>
51 O0A A OCA 440 B80S movzbl #10, rY : now (re-)set the <
65 A6 9% CAg 441 908 clr tabbl _tecctl+1(ré) : indicate left nargin
DE 1" OE:B 22; brb 50% ; and go exit with <cr> or <Lf>
OCAB 2444 .disable Lsb

e —————— —————————




S ———— -9

|

F 16
TECONAT AX=11 T -SEP- (11 -
Vi5:02 Sultch to alternate output 18-3E-198 98:14:83 NEESSaNERoNAT-mam:s 79 (BB

CAB 229 .sbttl Switch to alternate output

CAB

CAB 468 .enable Lsb

CAB

CAB tecSoutsy: switch output file

00'AB 0000'8F BO Es? do the pointer switch

movw #oupalt, b*oupntr(ril)
set output file name, etc.

5 set_outputname:

LT A TR T TR Y

57 00'AB 3C 0QCB mov2wl b*oupntr(ril), r? et pointer to output file pointer
o0 N Eg% brb 108 ’ go sgt file name, gtc. ’
(87 .sbttl Switch to alternate input
tecSinpsv: switch input file

00'AB  0000°'8F

08'AB
57 00'AB
00000000 EF
56 ;

08 50 A6 2
04 50 A6

00'AB 00

3
6
A
0
A

FB'8F

“
@
VOO WVMWMIIOOOP> 3> >

WIS = =000

52
00000000°EF 61

63 0703g2222F g?

MM O OWD

- PO-=P0O0 @ @
NVWENP OO0 N YOWOSOS O

V=000
£H00> M@ -—
O OOOOMNOMAOPOH-FOMOOEOS MO P ODONN

oom
Vo —
=il alalalalalslalalslslislalalalslalnialalalalnlinlnle]

d_._.goommﬂmmmmmmmmoeooonnnnnmw

(mlelelelelelelelelaleleleleleclelelelelele]

set_inputname:
clrw b*eoflag(r1i)
movzwl b*inpntr(ril), r?7
108: clrd filsrt
movl (r?7), ré
beql 0s
bb

.assume fubtn_tocaof eq 1
mcomw #0, b*eoflag(rll)

et_filename:

0$: movl fab$L_nam(ré), r0
movl nam$l_rsa(r0), rl
movzbl ?8=Sb_rsl(r0). re

beql
tstb (r1)
bneq 30%
incl r1
decl r
308: cmpb ré, #filsiz=3-1-1
blequ

movzbl #filsiz=3-1-1, r2
408%: movce re, (r1), filsrt
clrbd (rS)

moy ! #*a"'/82"", (r3)
50%: rsb

.disable Lsb

G0 0000000000000 NN NN NN NNNNOOCONONONONON OO O WU TS
QO NONN SN = OO 00 NON N S N = O O 00 O N 8 i) = O 0 0O~ N 0

o Y N N N N R N N N o o o N N N Y Y Y Y ¥ ¥ ¥

movw #inpalt, b*inpntr(ril)

#fabSv_tecbuf, fab$sl tocsts(r6)

s
blbe fabsl_tecsts(ré), 20

: @
bbc #fabSv_tecb2, fab$l_tecsts(ré),

do the pointer switch
set fnput file name, etc.
guess at not at end-of-file
get pointer to input file pointer
guess at file closed (no name)

et file's fab pointer

ile is 8loscd

% $ ; never eof if buffering

; branch if not at end-of-file

eof, indicate such
set a file name, etc.
get pointer to nam from fab
and pointer to filename
and get filename's length
no longth?
a starting null?
nope
yep, skip it
also skip in count
will the whole specification fit?
yep
nope, we must truncate it
move in the file specification
nd make rc?gég asciz

AL AT ATE AT EATEA TR TEA T FE TR TR T

0s ?
; yep, add the switch and asciz again
; exit
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v§ .02 Close input & output files ]8-SEP-1934 ?5:16:85 !TECO.SRC’TECOMA!.HAR:B - (31)
g} 29 .sbttl Close input & output files
g} 2§ .enable Lsb
D1 494 tecSclsfl: ; close input & output files
38 10 g} 235 bsbb close_input ; close thg input f?lc first
g} 23? .sbttl Close output file
D1 &93 tecSclsof: : close output file
57 OO'A? 3 D1 5 ? movzwl b‘gupntr(r11), r7 ; get pointer to output file pointer
56 27 ? g}g g 108: novt zas). ré 3 gotf:tlo's fab pointer
e : no 2
OA 04 A6 OF E D1 5 g bbgc #fabSv_dlt, fab$SlL_fop(ré), 208 ; a file, don't delete it
05 50 Aé 82 ES OD 504 bbce #tabSy "tecbuf, fab$l_tecsts(ré), 208 ; need data buffer dump?
FC?70 CF 9 FB 0D S05 calls #0, w*dump_data : yes, so go do so
6 D& 0D2D 589 208: clrl (rh) ; file is open no Llonger
32 50 A6 EB OD2F 25 blbs fab$Sl_tecsts(ré), 408 ; already closed if at end-of-file
D g 508 .assume fabta_tosaof eq 1
0062 30 Op0 509 bsbw $ ; release any and all data lines...
D36 2510 $close - ; close
80 6 251 fab=(ré) ;s the file
66 DF D36 PUSHAL (ré)
00000000°'GF 01 FB 80 8 CALLS #$S$.TMP1,G*SYSSCLOSE
010C'CF  O0C A6 DO OD3F 1 movl fab$l_stv(r6), w*err_msgvec+8 ; save the STV value
00000000'8F SO D1 OD4S 1 cmpl rO, #rms$_eof ; did we get end-of-file (why?)?
0 12 0D4C 1 bneq 0 : nope
5 g6 804 1 incl r0 : yep, fudge for success (RMS bug?)
F3AB 1 gg } 308: brw success_or_err : check for success completion & exit
805 18 close_input: ; close input file
0* gk 0D5 1 clrw b*eoflag(r1l) ; never eof if input file closed
57 00'AB C 0D56 movawl Db*inpntr(ril), r? : get pointer to input file pointer
B0 M1 88;@ brb 108 : then go close it & exit
88%% .sbttl Kill output file
DS5C tecSkilfl: ; delete output file
57 OO'Ag 3C 0DS5C mov2wl b*oupntr(ril), r?7 ; get pointer to output file pointer
56 6 D Dbg movl (r?7), ré : then get output file fab pointer
8 1 Dé bneq ; a file, go close £ delete it
0 D65 40$: rsb ; else just exit

.sbttl Close indirect command file

close indirect w/ error checking
error check upon exit

close indirect command file
ensure indirect file lLooks closed
pre-set o.k. 1f file's not open
gotf ndirect file fab pointer

no

close_indir:
pushadb b*30%
reset_indir:
clrw b*indir(r1l)
movl #rms$_normal, r0

m
~
s =
ol
-

g
&Po
o

‘
- et OO D

[=1V = lap

N =2 O VO NON WS IR = OO0 NN WS N = OO0 0 ~NON N 8 i

v AW TR AU U AU AT T YUY WA A LA

LA TR TR PR TRE PR FE TR TN ¥

movl ndprm, ré
7 7A beal ;83 ile
1A 7C 4 sbb b release any and all data lines...
7E & close = close
7€ 4 faz=(r6) the file
86 DF 78 PUSHAL (r6)
00000000 GF 1 FB 8 CALLS #$S$.TMP1,G*SYSSCLOSE




TECONAT VAX=11 TECO
v§8.02 Close ind
00000080'EF D& OD87
010C*'CF C A6 82 D g
D
D94
F'AF 00 FB 0D94
0 58 86 F 0D98
Fé g D9C
0 D9E
D9F
DOF
D9F
D9F
0002 OD9F
DD DA1
08 A DD DA3
Fg AD DF DA
F8 AD DF DA
00000000°'GF 02 FB ODA
04 0DB
DB&
DB&
DBé
PB4
0496 30 O0DB4
03 00'AB 02 00 ED DB7
AA DBD
50 go g DBF
F238' DC
A2 11 0pC
opC?
DC?7
080
S0 7C 0000
05 000
000
000

Vi v LA

NINNNNNNNNOOCONONONONONONONON NN SN S S S 0 0

QO NOM NS AN = © O 00 N0 V18 AN = O 0 00 NN NS N — OO 00 NION NS N

Srcct command file

clrl
mov l
rsb

calls
remque
bvc
rsb

.disable Lsb

free_data:

.word
pushl
pushl
pushal
pushal
calls
ret

~NO~ W
oo O
" o

.sbttl

tecSaller:
bsbw
cmpzv
bneq
mcoml
bsbw
brb

tmporg
clrq
rsb

unorg

18-

cadgrn
fabsl_stv(ré),

%0,

#2, g*LibSfree_vm

Error message finish up

ﬂOt Ql

"2 b‘ehelp(r11)

rosct nd

r0
tocoexelbr
reset_indir

tecoexelbr
r0

p-198¢ 18:18
w“orr_nsg%oc*‘n. save the STV value

| ’

Page 74
% &1

85

AX/VMS ’cro v04-00
TECO.SRCIJTECONAT.MAR; 3

d say we did it
: exit

: so free ug the buffer
equeue the next buffer

. there's one...

: no more, exit

; free up a data buffer

; stack the buffer's address

; stack the buffer's size

; stack address of buffer's address
; stack address of buffer's size

: goizroo up virtual memory

: ex

: error ncssago finish up
; not exiting if error
#3 ; want lona forn orror message?
0

: nope, n't give it
; signal error message printing (-1)
: and go do it

: go ensure no indirect and exit

; say nothing here...
; and exit




V5202 et tiLes opened, etc. 18-3E-1980 8114108 MRECE™SatafECoNRT mm Paoe 8

ONAT .MAR;3

82% ? .sbttl Get files opened, etc.
DC tecSgetfl: ; get files (EB, EI, EN, ER, EW)
0230 3 DC7 5 ’ bsbw fetch_filbuf : go fetch the fifonauc buffer
6 1 DCA L bneq non_nul ; go off to process non-null...
08 AA ? DCC 5 tstw i_r2(r10) ; null, but what is it for?
18 3 DCF 9 bgtr $ : it's EW
o0 1 DD1 beql $ ; it's ER
FFF7 8F 08 AA B Dbg 5 3 cmpw i_r2(r10) . #*a/1/=*a/R/ ; come on now, what is it really?
82 13 0DD g beql  cTose_indir ; it's EI, go close indirect
i ; DDB blss non_null ; it's EB, we'll die in parse...
0334 1 gg§ Eg brw en_next ; it's EN, go get next occurance
00'AB  0000'8F go DE 93 108: movw #inpnor, b*inpntr(r11) ; do the pointer switch
FED& 1 BE% ggg brw set_inputname : and go set input file name, etc.
00'AB  0000'S8F gO §DE9 599 20$: movw #oupnor, b*oupntr(ril) ; do the pointer switch
FEBF 1 BEF gg brw set_outputname : and go set output file name, etc.
8DF 593 non_null: ; non=null file specification
51 OgED'CF 9 ODF 600 movab w*file_spec_buf, ri ; get pointer to filespec buffer
) 51 00O OpDF 601 mov | rl,. . r : in two rogistcrs
OBEC'CF 94 ODFA 60§ clrb u‘file,spec_len ; reset the filespec's Length
oaeo'gr D& 8DF5 60 clrl w file_spec_opt : and options
3 gk EO 604 clrl r3 : say outside of quotes initially
02 g OEO4 2605 108: bsbw ’5t_filo_char : get a character
4 1 EO07 609 beql $ : null, the end
05 5 E8 O0E09 260 blbs r3, 208 ; branch if inside quotes
2F 50 91 OEOC 2608 cmpb rQ, #*a''/" ; else check for a switch
29 13 OQEOF 2609 beql 30§ ; found one, switches start here...
81 0 90 OE11 2610 20%: movb r0, (r1)+ ; (re=)store into filespec's buffer
OBEC'CF 96 OE14 2611 incb w‘filo_spec_lon : and (re=)count it in the length
EA 11 OE}R g}i brb 10$ : then loop for more...
51 OBEA'gﬁ DE 82}? g}g 308: a?vtl u‘{;lo_spec_sut. ri 3 poist Eo th:tsuitch buffer
clr r ; and clear
029€ gg 85 1 61? 408: bsbw get,filo-chlr ; get a switch character
10 1 E24 261 eql 0s ; null, end of this switch & spec too
eF SO 91 O 3 618 cmpb rQ, #%a''/" ; start of another switch?
28 13 OE 619 beql : yes, go end this one first
81 0 92 E2B 2620 movb r0, (r1)+ ; else store a switch character
O08E7'CF 9 E 621 tstb w“*ile_spec_swt+3 ; did we store too many?
SD 13 0E 6 5 eql 40% ; nope, continue
1 1n E § ? brb 80% ; yep, go give an error...
51  024C°CF 7; E g 5 508: movaq w*switch_Llist=4, ri ; get the switch list
81 g E 6 ? 60S$: tstl (r1)+ ; skip the bit gattern
61 g E3D 26 tstb (r1) ; more to check?
16 1 ESF 26 s beql 80$ : nope, go give an error
81 O0BE4'CF D1 OE41 2 cmpl whfile_spec_swt, (r1)¢+ ; a match?
g 3 Ekg ? bneq 60$ : nope, keeg checking...
08EO'CF 21 Eé4 6 bisl (r1), w*file_spec_opt ; yep, set the correct bit(s)
8 E4D 2 § tstb r8 : 1s there nor’ to come?
C 1§ E4F bneq 308 : y’s. go get it...
OBEC'CF 9 Eg 2 & 708: tstb w file_spec_len ; did we get any length at all?
D 15 E 5 bneq do_non_null : yep :
50 00000000'8F D ES 636 80%: movl #rms$_Syn, r0 ; say that's illegal




Get files opened, etc.

TECONAT VAX=11 T
V5T
ESE
Fe9%0 N E ?
0288 31 (QE61
i
08 AA  B5 O0E64
05 14 0QE67
4 13 0QE69
FFF7 8F 08 AA B} E??
15 1 3
EC 14 E?;
” 5600.A9 gc E;9
37 1§ E7C
FES0 3 0E7$
FeC1 39 8E§1
000003A3"' 0E84
SEBF §A3
65 6C 69 66 20 74 75 70 74 75 &4F 28' A5
65 70 6F 20 79 64 61 65 72 6C 61 65 8;33
1 A5
E8
FEDB 30 8583
0378°'CF DE 85
57 00000000°EF DE OE9
8 M1 0%39
00'AB B5 0E99
ol
F2A& 30 OE9E
OOOOO;BE' Al
6F 66 20 74 6F 6E 20 65 6C 69 ki §§' 3%8
64 6E C
0E 522
08 AA Bg EA
Og } EA8
00D 1 E:s
FEAS 30 OQEAD
56 110'§F Ds EBg
0000 8F 4 E8
05 13 O0EBA
56 484° CF DS EB%
50 A6  OBEO'CF EC
60 A6  FCC6 CF %E EC7
A A A QECD
04 A6 O §4g gf 08 ED1
1E A6 02 8F B EB?

do_non_null:

VAVAVRVIVAVY I N S 9 09 N S Rt vt
— OO0~

VIS AN = OO0 00 ~NON WV

oMM
OONONO~OrWNNNN
S NWN—=O VD~

J 16

.enable Lsb
40 108:

16=-SEP=1984 02:11:05 VAX/VMS Macro V04-00 Page
18-SEP-1934 ?5:16:85 !TECO.SRC’YECONAT.HAR:3 v (gg)
brw success_or_err ; go die with the error
brw en_preset ; go do preset for '‘en'
; do real opens, etc.
tstw ir2(r10) ; what is 1% for?
bgtr ;85 ; it's EW
beql $ ; it's ER
cmpw i r2(r10),#%a/1/-*a/R/ ; come on now, what is it really?
beql 408 ; it's El
bgtr 20$ : it's EN
movzwl b*oupntr(ril), r? ;: EB/EW, point to outfut file pointer
mov (r?7), ré : then get output file fab pointer
beql 60$ : closed is o.k.
bsbw sot_ougsutnano : alrcaq; open, set cpen file's name
.E;b 0?2. <"Output file already open’
w er

.long $5558$%
.word $3555%$
.ascic "'Output file already open''

close the current indirect file
get the indirect command fab

and where to store fab pointer
then join common open code

bsbw close_indir

moval w*indTr_cmd_fab, ré

moval cmdprm, r7
80%
b*n

brb

tstw flg(rll) are we returning a value?
bgeq 108 . ¢ MO, just die with the error
err FNF, <'"file not found'>
bsbw err
.long $555%$%
.word $ o
.ascic "File not found

tstw ir2(r10) ; is it EB or EW?
bleq 793 : it's EB
brw 170% ; it's EW

close the current input file
guess at normal input

good guess?

yep

nope, alternate input

bsbw close_input

moval w*input_nor_fab, ré

copw r?, #inpnor

beql 0$

moval u‘inYut_alt-fab. ré
whfi

movl o-spoi_opt. fab$l_tecsts(ré) ; set file spec options

movab u‘aotbyt first, fab$Sl_Ttecdsp(ré) ; reset the get byte dispatch

lOVfbl " fab!l_tocc;l(r6) : and the control bytes

mov #fabs$m_sqo’ gob L_fop(ré) ;: reset file cptions

movw #<fab$c ;ara >!fabSm_cr, fab$b_rat(ré) ; reset record fmt/attr
.assume fabSb_rfm eq fabSb_rat+1
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vEso83 Get files opened, etc. 18-36P-1380 08:18:08 VARLEMSRrasEooNes-0%. 5 age 20,

17 A 90 OQED movb #fabSm_get, fab$b_shr(ré) ; <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>